Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc 575 Pit BFiled Ref 2 Intered 01/16/09 15:59:10

Desc Exhibit C (part 8) Page 2 of 28

### IRELL & MANELLA LLP AREGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 172

Re: VALUATION 160808/1900 Invoice No. \*\*\*\*\*

	•				
<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	Amount
10/10/08	Alan J. Friedman	MEETING REGARDING VALUATION ISSUES AND FOLLOWUP	4.00	775.00	3,100.00
10/10/08	William N. Lobel	REVIEW DRAFT VALUATION SUMMARIES.	1.20	850.00	1,020.00
10/10/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING VALUATION ISSUES.	0.10	850.00	85.00
10/10/08	William N. Lobel	TELEPHONICALLY ATTEND MEETING REGARDING VALUATION OF ASSETS.	3.00	850.00	2,550.00
10/12/08	Alan J. Friedman	REVIEW AND ANALYZE VALUATION ISSUES AND RELATED DOCUMENTS	1.50	775.00	1,162.50
10/13/08	Alan J. Friedman	CONFERENCE REGARDING VALUATION ISSUES	0.40	775.00	310.00
10/14/08	Kerri A. Lyman	ANALYSIS OF PARTNERSHIP AGREEMENTS AND EMAIL SAME TO D. SANTOS.	0.70	535.00	374.50
10/15/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO PENDING VALUATIONS	0.90	775.00	697.50
10/16/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO VALUATION OF ASSETS	1.20	775.00	930.00
10/16/08	Kerri A. Lyman	EMAILS WITH D. SANTOS REGARDING VALUATIONS.	0.30	535.00	160.50
10/17/08	Alan J. Friedman	ADDRESS VALUATION ISSUES AND DOCUMENTS	1.20	775.00	930.00
10/21/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN REGARDING VALUATION AND RELATED ISSUES.	0.30	850.00	255.00
10/23/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN REGARDING VALUATION ISSUES AND STRUCTURE OF PLAN.	0.20	850.00	170.00
10/23/08	William N. Lobel	REVIEW SCHEDULE OF OWNERSHIP OF MULT-FAMILY ASSETS.	0.10	850.00	85.00
10/23/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING ASSET VALUATION STATUS.	0.10	850.00	85.00
10/23/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EFFECT OF OVERLAPPING OWNERSHIP OF ASSETS.	0.10	850.00	85.00
10/23/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING VALUATION ISSUES.	0.20	850.00	170.00
10/23/08	Kerri A. Lyman	CALL WITH D. SANTOS.	0.20	535.00	107.00
10/24/08	Alan J. Friedman	CONFERENCE AND FOLLOWUP WITH DEBTOR REGARDING VALUATION AND CONSOLIDATION ISSUES	1.00	775.00	775.00
10/29/08	William N. Lobel	REVIEW/ANALYSIS OF REVISED DECLARATION OF R. GREENSPAN RE VALUES OF ASSETS	0.20	.850.00	170.00
11/03/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN REGARDING VALUATION ISSUES.	0.30	850.00	255.00
11/04/08	Alan J. Friedman	CONFERENCE REGARDING VALUATION ISSUES	0.50	775.00	387.50
11/05/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN REGARDING ISSUES CONCERNING	0.20	850.00	170.00
11/05/08	William N. Lobel	VALUATION OF SPECIFIC ASSETS.  REVIEW CORRESPONDENCE REGARDING DIT  POSSIBLE RESOLUTION OF VALUATION  Page	0.10	850.00	85.00
		issues. Page	104	<b>∀</b> Exhibit	B

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 25/5-10 Filed 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 3 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 173 Re: VALUATION 160808/1900 Invoice No. \*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	Amount
11/06/08	Alan J. Friedman	CONFERENCE WITH THIGPEN REGARDING VALUATION ISSUES	0.20	775.00	155.00
11/06/08	William N. Lobel	TELEPHONE CONFERENCE WITH A. FRIEDMAN REGARDING VALUATION ISSUES.	0.20	850.00	170.00
11/06/08	Kerri A. Lyman	EMAILS TO D. SANTOS RE VALUATION.	0.10	535.00	53.50
11/10/08	Alan J. Friedman	CONFERENCE WITH THIGPEN AND MCFADDEN REGARDING VALUATION ISSUES	0.20	775.00	155.00
11/10/08	Kerri A. Lyman	REVIEW EMAIL FROM D. SANTOS REGARDING VALUATION.	0.10	535.00	53.50
11/11/08	Alan J. Friedman	MEETING WITH DEBTOR REGARDING VALUATION ISSUES	2.50	775.00	1,937.50
11/11/08	William N. Lobel	ATTEND MEETING WITH CLIENT AND FTI REPRESENTATIVES REGARDING VALUATION OF ASSETS.	2.50	850.00	2,125.00
11/12/08	William N. Lobel	REVIEW/ANALYSIS OF CORRESPONDENCE RE VALUATION ISSUES	0.10	850.00	85.00
11/14/08	Alan J. Friedman	CORRESPONDENCE RELATED TO VALUATION ISSUES	0.10	775.00	77.50
11/14/08	Alan J. Friedman	REVIEW AND ANALYZE DOCUMENTS RELATED TO VALUATION ISSUES	0.70	775.00	542.50
11/14/08	William N. Lobel	REVIEW CORRESPONDENCE FROM COMMITTEE REGARDING MEETING OF EXPERTS.	0.10	850.00	85.00
11/17/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING REGARDING VALUATION ISSUES AND SUPPORTING DOCUMENTS.	0.20	850.00	170.00
11/17/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING DEDUCTIONS FROM ASSET VALUES.	0.10	850.00	85.00
11/17/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN RE COURSE OF ACTION TO PURSUE RE VALUATION OF ASSETS	0.20	850.00	170.00
11/17/08	William N. Lobel	REVIEW/ANALYSIS OF PROPOSED RESPONSE TO V. SAHN	0.10	850.00	85.00
11/17/08	William N. Lobel	REVIEW/ANALYSIS OF AND COMMENT ON DRAFT RESPONSE TO V. SAHN'S REFUSAL TO HAVE EXPERTS MEET	0.10	850.00	85.00
11/17/08	William N. Lobel	REVIEW/ANALYSIS OF DRAFT OF RESPONSE TO V. SAHN	0.10	850.00	85.00
11/17/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN AND MN RE VALUATION ISSUES	0:30	850.00	255.00
11/19/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN REGARDING COMMITTEE INVOLVEMENT IN VALUATION PROCESS.	0.10	850.00	85.00
11/21/08 11/24/08	Kerri A. Lyman William N. Lobel	EMAILS WITH A. KENNEDY RE TAX ISSUES. TELEPHONE CONFERENCE WITH L. JURICH REGARDING VALUATION ISSUES AND ALTERNATIVES.	0.10 0.20	535.00 850.00	53.50 170.00
11/25/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING VALUATION ASSUMPTIONS AND CALCULATIONS.	0.20	850.00	170.00
11/25/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	1/6/20_	<b>—850.00</b>	170.00
*** **** *****************************			<b>7</b> .	Evhibit	(7)

Exhibit Par 305

### 

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS

January 7, 2009

Page 174

Re: VALUATION

160808/1900

Invoice No. \*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	<u>Amount</u>
11/25/08	William N. Lobel	SHARING VALUATION INFORMATION. REVIEW CORRESPONDENCE REGARDING SCOPE OF VALUATIONS AND PROCESS	0.20	850.00	170.00
•		USED. Total Fees:	57.60		\$41,839.50

·	TIMEKEEPER SUMMARY							
	<u>Name</u>	. <u>Code</u>	Billing Rate	Hours .	Fee Amount			
Alan J. Friedman		AFRI	775.00	25.50	19,762.50			
William N. Lobel		WLOE	850.00	18.70	15,895.00			
Kerri A. Lyman		LYMA	535.00	8.70	4,654.50			
Micah E. Ticatch		MTIC	325.00	4.70	1,527.50			
			Totals:	57.60	\$ 41,839.50			

COSTS A	ADVANCED
---------	----------

**Description** 

**Total Costs:** 

Amount

\$ 0.00

#### **MATTER TOTALS**

Fees:

**Total Amount Due:** 

\$ 41,839.50

\$ 41,839.50

Exhibit Page Exh

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Desc Exhibit C (part 8) Page 5 of 28

IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 175 Re: RELIEF FROM STAY PROCEEDINGS 160808/2000

Invoice No. \*\*\*\*\*

#### RELIEF FROM STAY PROCEEDINGS

**Total Amount Due:** 

	······································	PROFES	SIONAL SERVIC	ES			
<u>Date</u>	<u>Name</u>	. 4	Activity		<u>Hours</u>	Rate	<u>Amoun</u>
11/11/08	Alan J. Friedman	CONFERENCE WITH POTENTIAL LIFT ST		GARDING	0.20	775.00	155.00
11/12/08	Alan J. Friedman	REVIEW AND ANAL POTENTIAL RELIEF	· ·		1.10	775.00	852.50
11/13/08	Kerri A. Lyman	ANALYZE MATERIA EMAIL DEBTOR RE		AND	0.70	535.00	374.50
11/14/08	Alan J. Friedman	REVIEW AND ANAL	YZE RELIEF FRO	M STAY	0.40	775.00	310.00
		•	T	otal Fees:	2.40	•	\$1,692.00
		TIMER	EEPER SUMMAR	Y			
	<u>Name</u>	•	<u>Code</u>	<b>Billing Rate</b>		Hours	Fee Amoun
Alan J. Frie	dman		AFRI	775.00		1.70	1,317.5
Kerri A. Ly	man		LYMA	535.00		0.70	374.5
	•			Totals:		2.40	\$ 1,692.0
				·····			•
		Cos	TS ADVANCED				
Description	<u>1</u>	,		•	•		<b>Amount</b>
				r	Cotal C	Costs:	\$ 0.00
*					•		
	· · · · · · · · · · · · · · · · · · ·	Мат	TER TOTALS				

1,692.00

Exhibit <u>B</u>
Page <u>307</u>

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc Exhibit Belled 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 6 of 28

IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 176 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

#### SERVICES FOR OTHER PROFESSIONALS

	·	PROFESSIONAL SERVICES			
<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	<u>Amount</u>
07/01/08	William N. Lobel	TELEPHONE CONFERENCE WITH R. GREENSPAN REGARDING RETENTION AS	0.10	850.00	85.00
07/02/08	Lori S. Gauthier	EXPERT. REVIEW ISSUES REGARDING EMPLOYMENT OF PROFESSIONALS AND CONFER WITH K. LYMAN REGARDING SAME, INCLUDING BUT	0.20	210.00	42.00
		NOT LIMITED TO BMC GROUP AND E-MAIL A. FRIEDMAN REGARDING SAME.			
07/03/08	Lori S. Gauthier	PREPARE E-MAIL TO MJ (BMC) REGARDING EMPLOYMENT APPROVAL DURING CHAPTER 11 PROCEEDING.	0.10	210.00	21.00
07/07/08	Lori S. Gauthier	PREPARE E-MAIL TO MJ REGARDING EMPLOYMENT AND SCOPE OF SERVICES TO BE PROVIDED.	0.10	210.00	21.00
07/07/08	Lori S. Gauthier	PREPARE E-MAIL TO C. SORESI REGARDING EMPLOYMENT OF PROFESSIONALS DURING CHAPTER 11 PROCEEDING.	0.20	210.00	42.00
07/07/08	Lori S. Gauthier	REVIEW ISSUES REGARDING EMPLOYMENT OF BMC AS NOTICING AND CLAIMS AGENT.	0.30	210.00	63.00
07/07/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING ISSUES RELATING TO SERVICES TO BE	0.10	210.00	21.00
07/07/08	Lori S. Gauthier	PERFORMED BY BMC. TELEPHONE CALL TO M. SORENSON REGARDING ISSUES RELATING TO	0.10	210.00	21.00
07/07/08	Lori S. Gauthier	RETENTION OF CLAIMS AGENT. PREPARE E-MAIL TO A. FRIEDMAN AND K. LYMAN REGARDING ISSUES RELATING TO	0.20	210.00	42.00
07/07/08	Lori S. Gauthier	EMPLOYMENT OF BMC. COMMENCE DRAFTING MOTION TO EMPLOY/RETAIN BMC.	0.40	210.00	84.00
07/07/08	Lori S. Gauthier	DRAFT MOTION TO EMPLOY ORDINARY COURSE PROFESSIONALS.	1.50	210.00	315.00
07/07/08	Lori S. Gauthier	DRAFT DECLARATION/DISCLOSURE FOR USE BY ORDINARY COURSE PROFESSIONAL.	0.30	210.00	63.00
07/07/08	Lori S. Gauthier	PREPARE FORM OF QUESTIONNAIRE FOR USE BY ORDINARY COURSE PROFESSIONALS.	0.20	210.00	42.00
07/08/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING EMPLOYMENT OF	0.10	210.00	21.00
07/00/00	YYY111	PROFESSIONALS. PROFESSIONALS.		050.00	
07/08/08	William N. Lobel	TELEPHONE CONFERENCE WITH R. GREENSPAN REGARDING EMPLOYMENT OF FTI.	0.10	850.00	85.00
07/08/08	Kerri A. Lyman	VARIOUS EMAILS WITH S. CONERTY REGARDING EMPLOYMENT OF BMC AND OTHER ORDINARY COURSE Fyhibit	0.40	535.00	214.00
07/09/08	Alan J. Friedman	PROFESSIONALS. ADDRESS ISSUES RELATED TO Page	(50)	775.00	232.50
		•	-	Evhik	ait B

Exhibit B

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 27/5-ihit Brilled 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 7 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 177 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*

Pac

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
07/09/08	Lori S. Gauthier	EMPLOYMENT OF PROFESSIONALS. REVIEW E-MAILS REGARDING POTENTIAL EMPLOYMENT OF PROFESSIONALS,	0.10	210.00	21.00
07/09/08	William N. Lobel	CONSULTANTS, ETC. TELEPHONE CONFERENCE WITH R. GREENSPAN REGARDING EXPERT	0.20	850.00	170.00
07/10/08	William N. Lobel	TESTIMONY. REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
07/11/08	William N. Lobel	EMPLOYMENT OF FTI. REVIEW CORRESPONDENCE REGARDING FTI ISSUES.	0.10	850.00	85.00
07/11/08	William N. Lobel	REVIEW ENGAGEMENT LETTER WITH FTI.	0.10	850.00	85.00
07/14/08	Lori S. Gauthier	REVIEW ORDINARY COURSE MOTION AND FORWARD SAME TO A. FRIEDMAN AND K. LYMAN FOR REVIEW.	0.20	210.00	42.00
07/14/08	William N. Lobel	REVIEW AND RESPOND TO CORRESPONDENCE REGARDING SCOPE OF FTI SERVICES.	0.10	850.00	85.00
07/16/08	Lori S. Gauthier	REVIEW DOCUMENTS REGARDING EMPLOYMENT OF PROFESSIONALS, INCLUDING DOCUMENTS RECEIVED	0.20	210.00	42.00
07/17/08	Lori S. Gauthier	REGARDING NEED TO EMPLOY FTI, REVIEW ENGAGEMENT LETTER OF FTI AND E-MAIL A. FRIEDMAN AND K. LYMAN REGARDING EMPLOYMENT OF SAME.	0.20	210.00	42.00
07/17/08	Lori S. Gauthier	DRAFT APPLICATION TO EMPLOY FTI, FINANCIAL CONSULTANT.	1.50	210.00	315.00
07/17/08	Lori S. Gauthier	CONTINUE DRAFTING APPLICATION TO EMPLOY FTI, FINANCIAL ADVISOR.	0.50	210.00	105.00
07/18/08	Lori S. Gauthier	REVIEW REGARDING ORDINARY COURSE PROFESSIONALS.	0.20	210.00	42.00
07/18/08	Lori S. Gauthier	REVIEW DOCUMENTS REGARDING STATUS OF EMPLOYMENT OF "PROFESSIONALS" AND PREPARE E-MAIL TO CLIENT	0.20	210.00	42.00
		REGARDING SAME.			
07/18/08	Lori S. Gauthier	FINALIZE DRAFT OF APPLICATION TO EMPLOY FTI.	0.60	210.00	126.00
07/18/08	Kerri A. Lyman	REVISE APPLICATION TO EMPLOY FTI.	0.60	535.00	321.00
07/20/08	Alan J. Friedman	REVIEW AND ANALYZE DOCUMENTS REGARDING RETENTION OF PROFESSIONALS	0.50	775.00	387.50
07/21/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING PREPARATION FOR 7/21/08 "IDI" MEETING.	0.10	210.00	21.00
07/22/08	Alan J. Friedman	DRAFT CORRESPONDENCE REGARDING RETENTION OF PROFESSIONALS	0.20	775.00	155.00
07/22/08	Lori S. Gauthier	REVIEW/FINALIZE FTI EMPLOYMENT APPLICATION.	0.20	210.00	42.00
07/22/08	Lori S. Gauthier	CONFER WITH A. FRIEDMAN REGARDING ISSUES RELATING TO FTI'S EMPLOYMENT.	0.10	210.00	21.00
07/22/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING FTI EMPLOYMENT. Exhibit	d 0.10	<b>850.00</b>	85.00
07/23/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO age RETENTION OF PROFESSIONALS	257	<b>-775.00</b>	155.00
		<i>(</i>	-	Evhibit	B

## Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc Exhibit C (part 8) Page 8 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 178 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

Invoice No. \*\*\*\*\*

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	Amount
07/23/08	Lori S. Gauthier	MAKE FINAL REVISIONS TO APPLICATION TO EMPLOY FTI.	0.20	210.00	42.00
07/23/08	Lori S. Gauthier	PREPARE E-MAIL TO R. GREENSPAN AND CLIENT FORWARDED FTI EMPLOYMENT APPLICATION FOR APPROVAL/EXECUTION.	0.10	210.00	21.00
07/23/08	Lori S. Gauthier	REVIEW CLIENT'S COMMENTS/CHANGES TO DEBTOR BACKGROUND/HISTORY, ETC. AND REVIEW/CROSS-REFERENCE APPLICATION	0.20	210.00	42.00
•	•	TO EMPLOY FTI REGARDING SAME.			
07/23/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF FTI.	0.10	850.00	85.00
07/24/08	Alan J. Friedman	REVIEW CORRESPONDENCE REGARDING	0.10	775.00	77.50
07/24/08	Lori S. Gauthier	RETENTION OF PROFESSIONALS DRAFT/PREPARE NOTICE TO CREDITORS OF DEBTOR'S APPLICATION TO EMPLOY FTI	0.40	210.00	84.00
07/24/08	Lori S. Gauthier	CONSULTING. REVIEW E-MAIL RECEIVED FROM D. SANTOS (REGARDING ADDITIONAL REVISION TO	0.10	210.00	21.00
07/24/08	Lori S. Gauthier	EMPLOYMENT APPLICATION).  MAKE ADDITIONAL REVISIONS TO FTI EMPLOYMENT APPLICATION (AS REQUESTED BY FTI) AND E-MAIL SAME FOR	0.20	210.00	42.00
07/24/08	Lori S. Gauthier	APPROVAL/EXECUTION. REVIEW COMMENTS/CHANGES RECEIVED FROM FTI REGARDING EMPLOYMENT APPLICATION, MAKE REVISIONS AND	0.30	210.00	63.00
		FORWARD APPLICATION TO FTI AND CLIENT FOR APPROVAL/EXECUTION.			:
07/24/08	William N. Lobel	REVIEW REVISED APPLICATION TO EMPLOY FTI.	0.10	850.00	85.00
07/24/08	William N. Lobel	REVIEW DRAFT OF EMPLOYMENT	0.40	850.00	340.00
07/28/08	Alan J. Friedman	APPLICATION OF FTI. REVIEW AND ANALYZE CORRESPONDENCE AND DOCUMENTS RELATED TO	0.30	775.00	232.50
07/28/08	Lori S. Gauthier	EMPLOYMENT OF PROFESSIONALS REVIEW/FINALIZE AND PREPARE APPLICATION TO EMPLOY FTI FOR SERVICE	0.40	210.00	84.00
07/28/08	Lori S. Gauthier	AND FILING WITH COURT. PREPARE/FINALIZE NOTICE TO CREDITORS OF DEBTOR'S APPLICATION TO EMPLOY FTI,	0.30	210.00	63.00
	:	PREPARE PROOF OF SERVICE, ETC. AND PREPARE SAME FOR SERVICE AND FILING WITH COURT.			
07/28/08	Lori S. Gauthier	PREPARE APPLICATION TO EMPLOY FTI FOR FILING WITH COURT AND E-FILING OF SAME.	0.20	210.00	42.00
07/28/08	Lori S. Gauthier	PREPARE NOTICE TO CREDITORS OF APPLICATION TO EMPLOY FTI FOR FILING WITH COURT AND E-FILING OF SAME AND	0.20	210.00	42.00
07/28/08	Lori S. Gauthier	CALENDARING OF NOTICE EXPIRATION. REVIEW E-MAIL FROM P. COUCHOT AND hibit CONFER WITH K. LYMAN AND A. FRIEDMAN REGARDING JOINT ADMINISTRATION	0.20	210.00	42.00
	•		1	E . do : h : 4	Q

Exhibit\_

310

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc Exhibit Belled 01/16/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 9 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 179 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<b>Hours</b>	Rate	Amount	
		RELATING TO FTI EMPLOYMENT.			•	
07/28/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING	0.10	210.00	21.00	
• •	-	ISSUES RELATING TO EMPLOYMENT OF				
•	•	ORDINARY COURSE PROFESSIONALS	*			
		(INCLUDING BMC)				
07/28/08	William N. Lobel	REVIEW/ANALYSIS OF FTI EMPLOYMENT	0.20	850.00	170.00	
07/00/00	W/:11: N/ / -11	APPLICATIONI  PRIMERY/ANALYZISIO OF CORRESPONDENCE	0.10	050.00	05.00	
07/28/08	William N. Lobel	REVIEW/ANALYSIS OF CORRESPONDENCE	0.10	850.00	85.00	
07/29/08	Alan J. Friedman	RE FTI EMPLOYMENT APPLICATION. DRAFT CORRESPONDENCE REGARDING	0.20	775.00	155.00	
01123100	Man J. Pricuman	EMPLOYMENT OF PROFESSIONALS	0.20	773.00	155.00	
07/29/08	Kerri A. Lyman	EMAILS WITH B. LEE REGARDING	0.60	535.00	321.00	
,,,_,,		ORDINARY COURSE PROFESSIONALS AND			321.00	
		REVISIONS TO MOTION RE SAME.				
07/30/08	Alan J. Friedman	DRAFT DOCUMENTS RELATED TO	0.20	775.00	155.00	
		EMPLOYMENT OF PROFESSIONALS		•		
07/30/08	Lori S. Gauthier	REVIEW E-MAIL RECEIVED FROM PJ	0.20	210.00	42.00	
•	•	MARKSBURY REQUESTING FTI				
		DOCUMENTS, REVIEW FILES AND FORWARD				
0=100100		SAME TO PJ MARKSBURY.				
07/30/08	Lori S. Gauthier	REVIEW DOCUMENTS REGARDING	0.30	210.00	63.00	
		PREPARATION OF APPLICATION TO EMPLOY			•	
07/30/08	Lori S. Gauthier	ORDINARY COURSE PROFESSIONALS.	0.20	210.00	40.00	
07/30/08	Lon S. Gaudiler	REVIEW E-MAILS REGARDING EMPLOYMENT OF FTI IN CAMEO CASE AND	0.20	210.00	42.00	
		FORWARD GIANULIAS/FTI DOCUMENTS TO		•		
		PJ MARKSBURY.				
07/30/08	William N. Lobel	REVIEW/ANALYSIS OF CORRESPONDENCE	0.10	850.00	85.00	
01150100	11 111111111 111 20001	RE ADDITIONAL FTI QUESTIONS.	0.10	030.00	05.00	
07/30/08	William N. Lobel	REVIEW/ANALYSIS OF CORRESPONDENCE	0.10	850.00	85.00	
	•	RE EMPLOYMENT OF FTI.				
07/30/08	Kerri A. Lyman	RESPOND TO INQUIRY OF B. LEE	0.30	535.00	160.50	
•		REGARDING ORDINARY COURSE				
		PROFESSIONALS.				
07/30/08	Kerri A. Lyman	RESPOND TO INQUIRY REGARDING FTI'S	0.20	535.00	107.00	
		APPLICATION.				
08/01/08	Alan J. Friedman	REVIEW AND ANALYZE ISSUES RELATED TO	0.20	775.00	155.00	
00/01/00	41 . 7 77 1 . 1	POTENTIAL OBJECTION TO PROFESSIONALS		<b>55.</b> 00		
08/01/08	Alan J. Friedman	REVIEW AGREEMENTS RELATED TO	0.20	775.00	155.00	
08/01/08	William N. Lohol	EMPLOYMENT OF PROFESSIONALS	0.20	950.00	255.00	
00/01/00	William N. Lobel	REVIEW CORRESPONDENCE REGARDING REPRESENTATION OF MESA MANAGEMENT.	0.30	850.00	255.00	
08/01/08	William N. Lobel	DRAFT RESPONSE TO CORRESPONDENCE	0.10	850.00	85.00	•
	William IV. Looci	REGARDING OBJECTION TO EMPLOYMENT	0.10	0.00	65.00	
		OF FTI.			•	
08/01/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00	
00,02,00		EMPLOYMENT OF FTI.	0.10	050.00	05.00	
08/04/08	Alan J. Friedman	REVIEW NOTICE REGARDING EMPLOYMENT	0.10	775.00	77.50	
-, > <del></del>		OF PROFESSIONALS	_	A STATE OF THE STA		
08/04/08	Lori S. Gauthier		it <b>(1</b> .10)	210.00	21.00	
		COMMITTEE'S POSITION RELATING TO FT age EMPLOYMENT.	"	12		
		EMPLOYMENT.				
08/04/08	Lori S. Gauthier	REVIEW DOCUMENTS RECEIVED FROM	0.20	210.00	42.00	
			•	Exh		

## Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 275-iPit Brilled Ballo Bal

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 180 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*

<u>Name</u> Activity <u>Date</u> Hours Rate Amount CLIENT REGARDING EMPLOYMENT OF ORDINARY COURSE PROFESSIONALS. **REVIEW AND ANALYSIS OF ISSUES** 08/05/08 0.20 Alan J. Friedman 775.00 155,00 RELATED TO EMPLOYMENT OF ORDINARY COURSE PROFESSIONALS 08/05/08 William N. Lobel REVIEW APPLICATION TO EMPLOY FTI. 0.20 850.00 170.00 08/05/08 Kerri A. Lyman REVISIONS TO MOTION TO EMPLOY 0.60 535.00 321.00 ORDINARY COURSE PROFESSIONALS. REVIEW DOCUMENTS/E-MAILS REGARDING 08/06/08 Lori S. Gauthier 0.20 210.00 42.00 STATUS OF EMPLOYMENT OF OTHER PROFESSIONALS. REVIEW CORRESPONDENCE REGARDING 08/07/08 Alan J. Friedman 0.10 775.00 77.50 EMPLOYMENT OF ADDITIONAL **PROFESSIONALS** 08/07/08 Lori S. Gauthier REVIEW E-MAIL FROM MJ REGARDING 0.20 210.00 42.00 STATUS OF EMPLOYMENT APPROVAL AND PREPARE E-MAIL RESPONSE TO SAME. Lori S. Gauthier REVIEW SCHEDULES REGARDING ISSUES 0.20 08/07/08 210.00 42.00 RELATING TO EMPLOYMENT OF POTENTIAL PROFESSIONALS AND CONFER WITH K. LYMAN REGARDING SAME. REVIEW AND ANALYZE OBJECTIONS TO FTI 08/08/08 Alan J. Friedman 0.50 775.00 387.50 **EMPLOYMENTS** 08/08/08 Lori S. Gauthier REVIEW/REVISE QUESTIONNAIRE AND 0.40 210.00 84.00 DECLARATION IN SUPPORT OF ORDINARY COURSE MOTION. Lori S. Gauthier PREPARE E-MAIL TO MJ REGARDING 08/08/08 0.10 210.00 21.00 INFORMATION NEEDED FOR ORDINARY COURSE EMPLOYMENT MOTION. 08/08/08 Lori S. Gauthier REVISE DRAFT ORDINARY COURSE MOTION. 0.50 210.00 105.00 08/08/08 Lori S. Gauthier RECEIPT/REVIEW TAX SERVICES 0.20 210.00 42.00 AGREEMENT FROM HASKELL & WHITE AND UPDATE ORDINARY COURSE MOTION TO INCLUDE SAME. COMMUNICATE WITH MJ JOHN REGARDING 08/08/08 Lori S. Gauthier 0.20 210.00 42.00 INFORMATION NEEDED TO SEEK COURT-APPROVAL OF EMPLOYMENT. REVIEW COMMITTEE'S OBJECTION TO FTI'S 08/11/08 Lori S. Gauthier 0.20 210.00 42.00 EMPLOYMENT. 08/11/08 Lori S. Gauthier E-MAIL W. LOBEL AND K. LYMAN 0.10 210.00 21.00 REGARDING STRATEGY CONCERNING SCHEDULING HEARING ON FTI'S EMPLOYMENT APPLICATION AND REVIEW E-MAIL RESPONSES TO SAME. 08/11/08 Lori S. Gauthier PREPARE/REVISE NOTICE OF HEARING TO 0.20 210.00 42.00 INCLUDE HEARING ON FTI'S EMPLOYMENT APPLICATION/OBJECTIONS BY COMMITTEE. RECEIPT/REVIEW COMMITTEE'S Lori S. Gauthier 08/11/08 210.00 42.00 EMPLOYMENT APPLICATION AND Exhibit CALENDAR DEADLINE TO FILE Page RESPONSES/OBJECTIONS TO SAME. Lori S. Gauthier REVIEW DOCUMENTS RECEIVED FROM MJ 08/11/08 63.00 IN SUPPORT OF THEIR EMPLOYMENT AND

Ext. 13

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 279-11 B Filed 09/6/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 11 of 28

Activity

### IRELL & MANELLA LLP AREGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

Name

JAMES C. GIANULIAS January 7, 2009 Page 181

Date

Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

Rate

Amount

Hours

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	<u>Amount</u>
		CONFER WITH K. LYMAN REGARDING			
	•	ISSUES RELATING TO SAME.			
08/11/08	Lori S. Gauthier	PREPARE E-MAIL TO MJ REQUESTING	0.20	210.00	42.00
00/11/00	Dox 5. Guunioi	CLARIFICATION ON ESTIMATED MONTHLY	0.20	210.00	42.00
		FEES AND REVIEW E-MAIL RESPONSES			•
		RECEIVED FROM MJ (BMC).			
08/11/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.30	850.00	255.00
00/11/00	William N. Louel	OBJECTION TO EMPLOYMENT OF IRELL &	0.30	630.00	255.00
		MANELLA AND FTI.			
08/11/08	William N. Lobel	TELEPHONE CONFERENCE WITH V. SAHN	0.10	850.00	05.00
V6/11/V6	William N. Lovei	REGARDING FTI EMPLOYMENT ISSUES.	0.10	830.00	85.00
08/11/08	William N. Lobel	OFFICE CONFERENCE WITH L. GAUTHIER	0.10	850.00	95.00
·V6/11/V6	William IV. Lobel	REGARDING RESPONSE TO OBJECTION TO	0.10	00.00	85.00
		TERMS OF IRELL & MANELLA EMPLOYMENT			
00/11/00	Wanni A Tumana	AGREEMENT. REVISIONS TO MOTION TO EMPLOY	0.60	£2£ 00	201.00
08/11/08	Kerri A. Lyman		0.60	535.00	321.00
•		ORDINARY COURSE PROFESSIONALS AND			
		REVISE OF APPLICATIONS OF SUCH			
	Tona IZ Man	PROFESSIONALS.	0.50	205.00	1.00.00
08/11/08	Issa K. Moe	REVIEW AND ANALYZE OBJECTIONS TO	0.50	325.00	162.50
00/10/00	41 777 1	EMPLOYMENT OF PROFESSIONALS.	0.00	=== 00	
08/12/08	Alan J. Friedman	REVIEW AND REVISE ORDINARY COURSE	0.30	775.00	232.50
	* 10 0 41	MOTION			22.22
08/12/08	Lori S. Gauthier	PREPARE E-MAIL TO P. COUCHOT	0.10	210.00	21.00
	•	FORWARDING REVISED ORDINARY COURSE			
		MOTION.			
08/12/08	Lori S. Gauthier	CONFER WITH A. FRIEDMAN AND K. LYMAN	0.10	210.00	21.00
		REGARDING ISSUES CONCERNING			
		EMPLOYMENT OF PROFESSIONALS.			
08/12/08	Lori S. Gauthier	REVISE/FINALIZE ORDINARY COURSE	0.30	210.00	63.00
		MOTION.		-	•
08/12/08	Lori S. Gauthier	PREPARE E-MAIL TO P. COUCHOT	0.10	210.00	21.00
		FORWARDING ORDINARY COURSE MOTION			
•	•	FOR APPROVAL/EXECUTION.			
08/12/08	Lori S. Gauthier	REVIEW/GATHER EXHIBITS FOR ORDINARY	0.20	210.00	42.00
		COURSE MOTION.			
08/12/08	Lori S. Gauthier	REVIEW OBJECTIONS OF UST TO FTI'S	0.20	210.00	42.00
•		EMPLOYMENT.			
08/12/08	Lori S. Gauthier	UPDATE/REVISE NOTICE OF HEARING ON	0.20	210.00	42.00
•	•	FTI'S EMPLOYMENT (TO INCLUDE			
		OBJECTIONS BY UST) AND FORWARD			
		NOTICE TO P. COUCHOT FOR		•	
		APPROVAL/EXECUTION.			
08/12/08	Lori S. Gauthier	REVIEW PLEADINGS FILED BY COMMITTEE	0.10	210.00	21.00
	•	RELATING TO FTI'S EMPLOYMENT.			
08/12/08	Lori S. Gauthier	REVISE ORDINARY COURSE MOTION	0.20	210.00	42.00
	•	(BASED ON NEW INFORMATION RECEIVED			
		FROM BMC).	~		
08/12/08	William N. Lobel	REVIEW APPLICATION TO EMPLOY	<b>A</b> 0.20	850.00	170.00
		SULMEYER KUPETZ AS COMMITTEE Exhibit			
٠		COUNSEL.			
08/12/08	Kerri A. Lyman	COUNSEL. REVIEW AND ANALYZE COMMITTEE'S GE	_ 1.107	C5\$5.00	588.50
		OBJECTIONS TO EMPLOYMENT OF FTI AND	7	2.2.,	
•			(	Eyhihit	B

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc Exhibit Billed 01/96/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 12 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 182 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	Amount
	•	CORRESPOND WITH DEBTOR AND FTI RE			
08/12/08	Issa K. Moe	SAME. REVIEW AND ANALYZE OBJECTIONS TO APPLICATION TO EMPLOY FINANCIAL	2.90	325.00	942.50
08/13/08	Alan J. Friedman	ADVISOR. REVIEW AND ADDRESS OBJECTIONS TO FTI EMPLOYMENT	0.30	775.00	232.50
08/13/08	Lori S. Gauthier	DRAFT PROPOSED ORDER REGARDING ORDINARY COURSE MOTION.	0.60	210.00	126.00
08/13/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING ISSUES RELATING TO SCHEDULING HEARING ON OBJECTIONS TO EMPLOYMENT	0.10	210.00	21.00
08/13/08	Lori S. Gauthier	APPLICATIONS.  CONFER WITH K. LYMAN REGARDING ISSUES RELATING TO EMPLOYMENT OF HASKELL & WHITE.	0.10	210.00	21.00
08/13/08	Lori S. Gauthier	REVISE/FINALIZE PROPOSED ORDER AUTHORIZING DEBTORS TO EMPLOY PROFESSIONALS IN ORDINARY COURSE.	0.20	210.00	42.00
08/13/08	Lori S. Gauthier	REVIEW FILES/DOCUMENTS REGARDING DOCUMENTS NEEDED FOR ORDINARY COURSE MOTION AND E-MAIL MJ (BMC)	0.20	210.00	42.00
08/13/08	Lori S. Gauthier	AND PJ MARKSBURY REQUESTING SAME. REVIEW/PREPARE EXHIBITS FOR MOTION TO EMPLOY PROFESSIONALS IN ORDINARY COURSE OF BUSINESS.	0.30	210.00	63.00
08/13/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING SUBSTANCE OF COMMITTEE OBJECTION TO EMPLOYMENT OF FTI.	0.30	850.00	255.00
08/13/08	William N. Lobel	REVIEW COMMITTEE OBJECTION TO FTI EMPLOYMENT.	0.40	850.00	340.00
08/13/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING OBJECTIONS TO FTI EMPLOYMENT.	0.10	850.00	85.00
08/13/08	William N. Lobel	REVIEW AND RESPOND TO CORRESPONDENCE REGARDING OBJECTION TO FTI EMPLOYMENT.	0.10	850.00	85.00
08/13/08	Kerri A. Lyman	TELEPHONE CALL AND EMAILS WITH D. SANTOS REGARDING OBJECTION TO FTI EMPLOYMENT.	0.40	535.00	214.00
08/13/08	Issa K. Moe	REVIEW AND ANALYZE OBJECTIONS TO APPLICATION TO EMPLOY FINANCIAL ADVISOR.	0.40	325.00	130.00
08/14/08	Alan J. Friedman	DRAFT RESPONSIVE DOCUMENT RELATING TO FTI EMPLOYMENT	0.80	775.00	620.00
08/14/08	Alan J. Friedman	REVIEW AND REVISE ORDINARY COURSE APPLICATION	0.30	775.00	232.50
08/14/08	Lori S. Gauthier	REVIEW DOCUMENTS/E-MAILS REGARDING ISSUES RELATING TO FTI'S EMPLOYMENT OBJECTIONS.	0.20	210.00	42.00
08/14/08	Lori S. Gauthier	PREPARE NOTICE TO CREDITORS FOR SERVICE AND E-FILING WITH COURT; EExhibit FILING OF SAME AND CALENDARING OF	0.30	219:60 57 a	63.00
	•	NOTICE EXPIRATION (RE: ORDINARY	1	SUExhi Page	bit B
			-3,		77

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 275-pit B Filed 01/976/09 of Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 13 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 183 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
•	•	COURSE MOTION).	:		
08/14/08	Lori S. Gauthier	PREPARE ORDINARY COURSE MOTION FOR E-FILING WITH COURT AND E-FILING OF SAME.	0.20	210.00	42.00
08/14/08	Lori S. Gauthier	DRAFT NOTICE TO CREDITORS OF DEBTORS' MOTION TO EMPLOY PROFESSIONALS IN ORDINARY COURSE.	0.40	210.00	84.00
08/14/08	Lori S. Gauthier	REVIEW E-MAIL AND DOCUMENTS REGARDING EMPLOYMENT OF HASKELL & WHITE.	0.20	210.00	42.00
08/14/08	Lori S. Gauthier	PREPARE NOTICE OF HEARING AND RELATED EXHIBITS FOR FILING WITH COURT AND E-FILING OF SAME (RE: HEARING ON OBJECTIONS TO J&M'S EMPLOYMENT APPLICATION AND FTI'S EMPLOYMENT APPLICATIONS).	0.30	210.00	63.00
08/14/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING RESPONSE TO OBJECTION TO FTI EMPLOYMENT.	0.10	<b>850.00</b>	85.00
08/14/08	Kerri A. Lyman	DRAFT REPLY TO OBJECTIONS TO FTI'S EMPLOYMENT.	0.70	535.00	374.50
08/15/08	Alan J. Friedman	CONFERENCE REGARDING FTI OBJECTIONS AND RESPONSES THERETO	0.30	775.00	232.50
08/15/08	Lori S. Gauthier	REVIEW/GATHER DOCUMENTS REGARDING PREPARATION OF 8/26/08 HEARING NOTEBOOK REGARDING FTI FEE APPLICATION/OBJECTIONS.	0.20	210.00	42.00
08/15/08	Lori S. Gauthier	REVIEW REGARDING STATUS OF MONTHLY PROFESSIONAL FEE STATEMENTS AND E- MAIL R. CARDONA REGARDING INFORMATION NEEDED.	0.10	210.00	21.00
08/15/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING RESPONSE TO COMMITTEE OBJECTION TO FTI EMPLOYMENT.	0.10	850.00	85.00
08/15/08	Kerri A. Lyman	DRAFT REPLY TO OBJECTIONS TO FTI'S EMPLOYMENT.	2.90	535.00	1,551.50
08/18/08	Alan J. Friedman	ANALYSIS OF ADDITIONAL ISSUES RELATED TO COMMITTEE OBJECTIONS AND REPLY	0.50	775.00	387.50
08/18/08	Alan J. Friedman	REVIEW DECLARATION AND SUPPORTING DOCUMENTS REGARDING ORDINARY COURSE ISSUES	0.20	775.00	155.00
08/18/08	Alan J. Friedman	REVIEW AND REVISE REPLY TO COMMITTEE OBJECTIONS TO FTI	1.00	775.00	775.00
08/18/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING PROCEDURES UNDER ORDINARY COURSE MOTION.	0.10	210.00	21.00
08/18/08	Lori S. Gauthier	RECEIPT/REVIEW AND PREPARE DECLARATION AND DISCLOSURE OF TINAMARIE FEIL ON BEHALF OF BMC Exhibit GROUP FOR SERVICE AND FILING WITH COURT.	0.20	210.00	42.00
08/18/08	Lori S. Gauthier	PREPARE DECLARATION IN SUPPORT OF	0.20	21E.00hibit	2 12.00
\.		•		Per	5/3

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc 575-11 BFiled 01/976/03 of 21/16/09 15:59:10 Desc Exhibit C (part 8) Page 14 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 184 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
		BMC'S EMPLOYMENT FOR FILING WITH	•	•	
		COURT AND E-FILING OF SAME.			
08/18/08	William N. Lobel	TELEPHONE CONFERENCE WITH S. THIGPEN	0.20	850.00	170.00
		REGARDING RESPONSE TO OBJECTION TO			1,0,00
		FTI EMPLOYMENT.			•
08/18/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
		ENGAGEMENT OF APPRAISER.			
08/18/08	William N. Lobel	REVIEW MOTION TO ENGAGE FTI AND	0.90	850.00	765.00
		OBJECTIONS THERETO.		•	
. 08/18/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN	0.10	850.00	85.00
•	•	REGARDING OBJECTION TO EMPLOYMENT			
		OF FTI.			
08/18/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN	0.10	850.00	85.00
	*	REGARDING OBJECTION TO EMPLOYMENT			
•	•	OF FTI.			
08/18/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
	p.	EMPLOYMENT OF APPRAISER.			
08/18/08	Kerri A. Lyman	REVISE REPLY TO FTI'S OBJECTION.	2.60	535.00	1,391.00
08/18/08	. Issa K. Moe	DRAFT AND REVISE REPLY TO OPPOSITION	6.30	325.00	2,047.50
	•	TO APPLICATION TO EMPLOY FTI			
	•	CONSULTING, INC.			•
08/19/08	Alan J. Friedman	DRAFT ADDITIONAL ARGUMENTS	2.70	775.00	2,092.50
		REGARDING FTI EMPLOYMENT			
08/19/08	Alan J. Friedman	CONFERENCE REGARDING RETENTION OF	0.30	775.00	232.50
		ORDINARY COURSE PROFESSIONALS.			
08/19/08	Alan J. Friedman	REVIEW AND REVISE ORDINARY COURSE	0.30	775.00	232.50
		DOCUMENTS			
08/19/08	Lori S. Gauthier	TELEPHONE CALLS FROM CLIENT	0.20	210.00	42.00
•	•	REGARDING ISSUES/COMMENTS TO REPLY			
		TO OBJECTIONS TO FTI'S EMPLOYMENT.			
08/19/08	Lori S. Gauthier	ASSIST IN FINALIZING REPLY TO	1.30	210.00	273.00
		OBJECTIONS TO THE UST AND COMMITTEE'S			
• .		OBJECTIONS TO FTI'S EMPLOYMENT	•		
		APPLICATION, PREPARE SAME FOR SERVICE			
		AND FILING WITH COURT; E-SERVICE AND			
00/10/00		E-FILING OF SAME.			
08/19/08	Lori S. Gauthier	REVIEW REPLY TO OBJECTIONS TO FTI'S	0.30	210.00	63.00
00/10/00	7 :00 4:	EMPLOYMENT APPLICATION.			
08/19/08	Lori S. Gauthier	REVIEW E-MAIL RECEIVED REGARDING	0.20	210.00	42.00
		BMC DISCLOSURES AND PREPARE E-MAIL			
00/10/00	T C C4-1	TO MJ REGARDING SAME.	0.10	010.00	
08/19/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING NEED	0.10	210.00	21.00
	•	TO FILE SUPPLEMENTAL	•		•
00/10/00	XX7:11:	DISCLOSURE/DECLARATION FOR BMC.	0.00	050.00	
08/19/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN	0.20	850.00	170.00
		REGARDING RESPONSE TO COMMITTEE			
00/10/00	WEILER AT T -1-1	OBJECTION TO FTI ENGAGEMENT.	0.00	0.000	450.00
08/19/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.20	850.00	170.00
		INFORMATION NEEDED TO COMPLETE	/}		•
00/10/00	William NI Y -h-1	RESPONSE REGARDING FTI ENGAGEMENT hibit	<u> </u>		1 447.00
08/19/08	William N. Lobel	REVISE RESPONSE TO OBJECTION TO Page	1707	Cashera .	_ 1,445.00
09/10/09	William N. Lobel	ENGAGEMENT OF FTI.  REVIEW FINAL VERSION OF RESPONSE TO		950.00	170.00
08/19/08	william N. Lobel	KEVILW PINAL VERSION OF RESPONSE 10	0.20	850.00 Exhibit	<b>2</b> 170.00
-				" 10 mg	Z.,
		•		Pagr T	6114

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50

Case 8:08-bk-13150-RK Desc 576 ipit B Piled Perf 6/169 Entered 01/16/09 15:59:10

Desc Exhibit C (part 8) Page 15 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 185 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	<u>Activity</u>	Hours	Rate	Amount
08/19/08	Kerri A. Lyman	COMMITTEE OBJECTION. REVISE, FINALIZE AND FILE REPLY REGARDING OPPOSITION TO EMPLOYMENT	2.80	535.00	1,498.00
08/19/08	Kerri A. Lyman	OF FTI AND DRAFT DECLARATION OF R. GREENSPAN. TELEPHONE CALLS AND EMAILS WITH FTI REGARDING OPPOSITION TO EMPLOYMENT	0.60	535.00	321.00
08/19/08	Issa K. Moe	OF FTI. PREPARE AND FINALIZE REPLY TO OPPOSITION TO EMPLOY FTI CONSULTING,	2.30	325.00	747.50
08/20/08	Alan J. Friedman	INC. CONFERENCE REGARDING FTI EMPLOYMENT	0.30	775.00	232.50
08/20/08	Lori S. Gauthier	UPDATE 8/26/08 HEARING NOTEBOOK.	0.20	210.00	42.00
08/20/08	Lori S. Gauthier	E-MAIL PARTIES REGARDING STATUS/DEADLINES RELATING TO	0.10	210.00	21.00
08/21/08	Alan J. Friedman	COMMITTEE'S EMPLOYMENT APPLICATION. REVIEW CORRESPONDENCE AND DOCUMENTS RELATED TO POTENTIAL	0.30	775.00	232.50
08/21/08	William N. Lobel	OBJECTION TO COMMITTEE EMPLOYMENT REVIEW SULMEYER APPLICATION FOR EMPLOYMENT; REVIEW AND RESPOND TO	0.10	850.00	85.00
08/21/08	Kerri A. Lyman	CORRESPONDENCE REGARDING SAME. ANALYZE APPLICATION OF COMMITTEE TO EMPLOY SULMEYER AND COMMUNICATE	0.30	535.00	160.50
08/22/08	Alan J. Friedman	WITH CLIENT RE SAME. ADDRESS ADDITIONAL ISSUES RELATED TO EMPLOYMENT OF PROFESSIONALS AND	0.30	775.00	232.50
08/22/08	William N. Lobel	RELATED OBJECTIONS REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
08/25/08	Alan J. Friedman	OBJECTION TO FTI EMPLOYMENT. REVIEW AND ANALYZE DOCUMENTS AND STRATEGY RELATED TO HEARINGS ON	0.50	775.00	387.50
. 08/25/08	Alan J. Friedman	EMPLOYMENT OBJECTIONS ADDRESS ISSUES RELATED TO ORDINARY COURSE PROFESSIONALS	0.30	775.00	232.50
08/25/08	Lori S. Gauthier	REVIEW COURT DOCKET AND COURT CALENDAR REGARDING PREPARATION FOR	0.20	210.00	42.00
•	•	8/26/08 MATTERS AND STATUS OF POSTING TENTATIVE.			
08/25/08	Lori S. Gauthier	REVIEW DOCUMENTS AND E-MAIL REGARDING POSITION WITH RESPECT TO	0.10	210.00	21.00
00/05/00	Yami O Canadiiaa	COMMITTEE'S EMPLOYMENT APPLICATION.	0.00	010.00	40.00
08/25/08 08/25/08	Lori S. Gauthier Lori S. Gauthier	UPDATE 8/26/08 HEARING NOTEBOOK. REVIEW E-MAIL REGARDING AMENDED	0.20 0.10	210.00 210.00	42.00
00/25/00	Lon S. Gaumer	DISCLOSURES RELATING TO BMC EMPLOYMENT AND E-MAIL K. LYMAN REGARDING STATUS OF SAME.	0.10	210.00	21.00
08/25/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING BMC EMPLOYMENT ISSUES.	0,20	210.00	42.00
08/25/08	Lori S. Gauthier	REVIEW REGARDING STATUS OF HASKEIEX hibi	t 0.20	210.00	42.00
		COURSE) AND E-MAIL K. LYMAN	16	ST Exh	ibit B

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 275-11 Brilled 0.716/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 16 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 186 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*

<b>Date</b>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	<u>Amount</u>
	·	REGARDING SAME.		•	
08/25/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
00/25/00	William 14. Loooi	OBJECTION TO FTI EMPLOYMENT.	0.10	650.00	63.00
08/26/08	Alan J. Friedman	CONFERENCE REGARDING PENDING	0.40	775.00	310.00
00/20/00	man of thousands	EMPLOYMENT MATTERS	0.40	775.00	310.00
08/26/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING	0.20	210.00	42.00
		ISSUES REGARDING BMC'S EMPLOYMENT	0.20		12.00
		AND PRE-PETITION SERVICES.			
08/26/08	Lori S. Gauthier	PREPARE E-MAIL TO CLIENT REGARDING	0.20	210.00	42.00
		ORDINARY COURSE PROFESSIONALS AND			
•		INFORMATION NEEDED REGARDING			
		HASKELL & WHITE EMPLOYMENT.			
08/26/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING HASKELL &	. 0.20	210.00	42.00
		WHITE EMPLOYMENT ISSUES.	٠,		
08/26/08	Lori S. Gauthier	RECEIPT/REVIEW DECLARATION AND	0.20	210.00	42.00
		DISCLOSURE AND QUESTIONNAIRES	•		
		REGARDING HASKELL & WHITE			
		SERVICES/EMPLOYMENT.			
08/26/08	William N. Lobel	ATTEND MEETING WITH J. GIANULIAS	0.40	850.00	340.00
		REGARDING RESPONSE TO OBJECTION TO			
00/06/00	VT7'11' NT T 1 1	FTI ENGAGEMENT.			
08/26/08	William N. Lobel	REVIEW PLEADINGS IN PREPARATION FOR	0.30	850.00	255.00
00/07/00	William M. Calai	PENDING HEARING.		050.00	
08/26/08	William N. Lobel	ATTEND HEARING ON OBJECTION TO FTI	3.10	850.00	2,635.00
00/06/00	William N. Lahal	ENGAGEMENT.	0.10	950.00	05.00
08/26/08	William N. Lobel	TELEPHONE CONFERENCE WITH P. COUCOT	0.10	850.00	85.00
•		REGARDING RESULTS OF HEARING AND RELATED ISSUES.		•	
08/27/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING	0.10	210.00	21.00
00/2//00	Lori 5. Cauditei	OUTCOME OF 8/26/08 HEARING ON FITS	0.10	210.00	21.00
		EMPLOYMENT AND TERMS FOR ORDER.	<i>t</i> *		
08/27/08	Lori S. Gauthier	DRAFT ORDER AUTHORIZING EMPLOYMENT	0.40	210.00	84.00
***************************************		OF FTI CONSULTING.	0.10	210.00	, 04.00
08/27/08	Lori S. Gauthier	REVIEW AND PREPARE DECLARATION AND	0.20	210.00	42.00
•		DISCLOSURE ON BEHALF OF HASKELL &			
		WHITE FOR SERVICE AND FILING WITH		•	
		COURT.		•	•
08/27/08	Lori S. Gauthier	E-FILING OF DECLARATION AND	0.20	210.00	42.00
		DISCLOSURE OF HASKELL AND WHITE AND			•
		CALENDARING OF DEADLINE FOR FILING			
	,	OBJECTIONS TO SAME.			
08/27/08	William N. Lobel	OFFICE CONFERENCE WITH K. LYMAN	0.30	850.00	255.00
•	•	REGARDING RESULTS OF HEARING AND			•
	•	PREPARATION OF ORDER REGARDING FTI			
		EMPLOYMENT.		•	
08/29/08	Alan J. Friedman	ADDRESS ISSUES RELATED TO ORDINARY	0.20	775.00	155.00
00/00/00		COURSE PROFESSIONALS			
08/29/08	Lori S. Gauthier	REVIEW COMMITTEE'S OBJECTION TO	<b>0.20</b> .	210.00	42.00
	•	ORDINARY COURSE MOTION AND CONFER	_		
00/20/00	Lani C. Carathian	WITH K. LYMAN REGARDING SAME.	Para	210.00	21.22
08/29/08	Lori S. Gauthier	COMMITTEE'S OF ECTION TO OFFINATE THE	Ulling	210.00	21.00
	•	COMMITTEE'S OBJECTION TO ORDINARY COURSE PROFESSIONALS.	17 1	Exhib	vit 🗩
	•	COORDET ROTEBBIONALB.	100		
			•	Page	318

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 279-11 B Fled 09/16/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 17 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 187 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	<u>Amount</u>
08/29/08	William N. Lobel	REVIEW COMMITTEE'S OBJECTION TO MOTION TO RETAIN ORDERING COURSE PROFESSIONALS.	0.10	850.00	85.00
.08/29/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING LANGUAGE OF FTI ORDER.	0.10	850.00	85.00
08/29/08	William N. Lobel	REVIEW DRAFT ORDER APPOINTING EMPLOYMENT OF FTI.	0.10	850.00	85.00
08/29/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING OBJECTION TO MOTION TO EMPLOY ORDINARY COURSE PROFESSIONALS.	0.10	850.00	85.00
09/02/08	Lori S. Gauthier	REVIEW/FINALIZE PROPOSED ORDER AUTHORIZING EMPLOYMENT OF FTI AND FORWARD SAME TO K. LYMAN FOR OBTAINING COMMITTEE APPROVAL.	0.10	210.00	21.00
09/02/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF ORDINARY COURSE PROFESSIONALS.	0.10	850.00	85.00
09/02/08	William N. Lobel	REVIEW ADDITIONAL REGARDING EMPLOYMENT OF APPRAISER.	0.10	850.00	85.00
09/03/08	Alan J. Friedman	REVIEW CORRESPONDENCE AND DOCUMENTS RELATED TO HIRING OF ADDITIONAL APPRAISERS	0.20	775.00	155.00
09/03/08	Lori S. Gauthier	REVIEW DOCUMENTS AND JUDGE KWAN'S SELF-CALENDARING SCHEDULE REGARDING SCHEDULING OF HEARING ON	0.20	210.00	42.00
	•	COMMITTEE'S OBJECTIONS TO ORDINARY COURSE MOTION AND E-MAIL A. FRIEDMAN			. ·
09/03/08	Lori S. Gauthier	REGARDING SAME. DRAFT APPLICATION TO EMPLOY BMC AND SUPPORTING DECLARATIONS.	2.20	210.00	462.00
09/03/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING ISSUES RELATING TO BMC'S EMPLOYMENT.	0.10	210.00	21.00
09/03/08	Lori S. Gauthier	REVISE/FINALIZE DRAFT OF APPLICATION TO EMPLOY BMC.	0.40	210.00	84.00
09/03/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF ACCOUNTANTS.	0.10	850.00	85.00
09/03/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING RETENTION OF APPRAISER.	0.10	850.00	85.00
09/03/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT APPLICATION FOR BMC.	0.10	850.00	85.00
09/03/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING HEARING ON ORDINARY COURSE PROFESSIONALS MOTION.	0.10	850.00	85.00
09/03/08	William N. Lobel	REVIEW P. COUCHOT PROFESSIONAL FEE STATEMENT.	0.10	850.00	85.00
09/03/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF BMC.	0.10	850.00	85.00
09/03/08	Kerri A. Lyman	EMAILS WITH MJ JOHN REGARDING BMC'S EMPLOYMENT.	0.30	535.00	160.50
09/04/08	Alan J. Friedman	REVIEW AND REVISE EMPLOYMENT ORDERS Exhibit	0 0.20	775.00	155.00
09/04/08	Lori S. Gauthier	REVISE/FINALIZE PROPOSED ORDER AUTHORIZING EMPLOYMENT OF FTI	0.20	210.00 Hxhibit	42.00
			•	Paçr	319

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50

Case 8:08-bk-13150-RK Doc 275-11 Biled 0 916/09 Entered 01/16/09 15:59:10

Desc Exhibit C (part 8) Page 18 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 188 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	<u>Amount</u>
	4	CONSULTING.			
09/04/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING ISSUES RAISED BY ORDINARY COURSE	0.10	850.00	85.00
09/04/08	William N. Lobel	PROFESSIONALS. REVIEW CORRESPONDENCE REGARDING PENDING ORDERS.	0.10	850.00	85.00
09/04/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING COURT RULINGS ON FTI MOTION AND	0.10	850.00	85.00
09/04/08	William N. Lobel	RELATED MATTERS. REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
09/04/08	Kerri A. Lyman	COMMENTS TO FTI ENGAGEMENT ISSUES. DISCUSS COMMITTEE OBJECTION WITH HASKELL & WHITE.	0.30	535.00	160.50
09/04/08	Kerri A. Lyman	EMAILS WITH V. SAHN REGARDING IRELL AND FTI'S EMPLOYMENT ORDERS.	0.40	535.00	214.00
09/05/08	Alan J. Friedman	REVIEW CORRESPONDENCE REGARDING RETENTION OF PROFESSIONALS	0.10	775.00	77.50
09/05/08	Alan J. Friedman	REVIEW STATUS OF PENDING ORDERS	0.10	775.00	77.50
09/05/08	Lori S. Gauthier	PREPARE PROPOSED ORDER REGARDING FTI EMPLOYMENT FOR SERVICE ON PARTIES, PREPARE SAME FOR E-FILING WITH COURT AND E-FILING OF SAME.	0.20	210.00	42.00
09/05/08	Lori S. Gauthier	REVIEW/ANALYSIS OF BMC'S JULY INVOICES.	0.20	210.00	42.00
09/05/08	Lori S. Gauthier	PREPARE JULY PROFESSIONAL FEE STATEMENT FOR BMC AND REVIEW SAME/CONFER WITH K. LYMAN REGARDING	0.30	210.00	63.00
09/05/08	Lori S. Gauthier	SAME. PREPARE E-MAIL TO PJ MARKSBURY AND P. COUCHOT REGARDING ISSUES RELATING	0.20	210.00	42.00
09/05/08	Lori S. Gauthier	TO BMC'S EMPLOYMENT. REVIEW BMC'S DOCUMENTS/INVOICES REGARDING PRE VS. POST-PETITION	0.20	210.00	42.00
09/05/08	Lori S. Gauthier	SERVICES. CONFER WITH K. LYMAN REGARDING ISSUES RELATING TO ORDINARY COURSE MOTION (AS APPLICABLE TO EMPLOYMENT	0.10	210.00	21.00
09/05/08	Lori S. Gauthier	OF HASKELL & WHITE). CONFER WITH K. LYMAN REGARDING ISSUES RELATING TO EMPLOYMENT OF	0.10	210.00	21.00
09/05/08	William N. Lobel	PROFESSIONALS ON BEHALF OF DEBTOR. REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF HASHELL & WHITE AND	0.20	850.00	170.00
09/05/08	William N. Lobel	BMC. REVIEW CORRESPONDENCE REGARDING COMPROMISE OF ISSUES REGARDING OPDINARY PROFESSIONALS	0.10	850.00	85.00
09/05/08	William N. Lobel	ORDINARY PROFESSIONALS. REVIEW CORRESPONDENCE REGARDING PAYMENT OF OTHER PROFESSIONALS.	0.10	850.00	85.00
09/05/08	William N. Lobel	DEVIEW DMC INVOICES	<b>Q</b> .10	850.00	85.00
09/05/08	Kerri A. Lyman	EMAIL WITH MCFADDEN REGARDING PAYMENT TO HASKELL EXHIBIT TO HASKELL	6.20	535.00	107.00
09/08/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO PAGE	2010	775.00 EX	hibit 155.00
•				Pa	ge_320

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 275-11 Filed 01/16/09 of 21 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 19 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 189 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100

<u>Date</u>	<u>Name</u>	<u>Activity</u>	Hours	Rate	Amount
09/08/08	William N. Lobel	EMPLOYMENT OF PROFESSIONALS REVIEW CORRESPONDENCE REGARDING CONTINUED OBJECTION TO RETENTION OF	0.10	850.00	85.00
09/08/08	William N. Lobel	OTHER PROFESSIONALS. REVIEW CORRESPONDENCE REGARDING HASHELL AND WHITE ISSUES.	1.00	850.00	850.00
09/08/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING ORDINARY COURSE PROFESSIONAL ISSUES.	0.20	850.00	170.00
09/08/08	Kerri A. Lyman	EMAIL TO COMMITTEE REGARDING RETENTION OF HASKELL & WHITE.	0.30	535:00	160.50
09/09/08	Alan J. Friedman	REVIEW ORDERS REGARDING EMPLOYMENT	0.20	775.00	155.00
09/09/08	Alan J. Friedman	REVIEW CORRESPONDENCE REGARDING PAYMENT OF INVOICES	0.10	775.00	77.50
09/09/08	Lori S. Gauthier	REVIEW DOCUMENTS AND ISSUES RELATING TO EMPLOYMENT OF VARIOUS	0.20	210.00	42.00
09/09/08	Lori S. Gauthier	PROFESSIONALS. REVIEW COURT DOCKET TO ASCERTAIN STATUS OF ENTRY OF ORDER APPROVING	0.10	210.00	21.00
09/09/08	Lori S. Gauthier	FTI'S EMPLOYMENT. PREPARE E-MAIL TO PJ MARKSBURY REGARDING STATUS OF	0.10	210.00	21.00
09/09/08	Lori S. Gauthier	PREPARATION/COORDINATION OF PROFESSIONAL FEE STATEMENTS ON BEHALF OF BMC. REVIEW E-MAILS REGARDING ISSUES RELATING TO ORDER AUTHORIZING EMPLOYMENT OF FTI, REVIEW COURT DOCKET, PREPARE E-MAIL RESPONSE REGARDING SAME AND FORWARDING	0.20	210.00	42.00
09/09/08	William N. Lobel	FORM PROFESSIONAL FEE STATEMENT FOR FTT'S USE. REVIEW CORRESPONDENCE REGARDING OBJECTION TO HASKELL & WHITE	0.10	850.00	85.00
09/09/08	William N. Lobel	ENGAGEMENT. REVIEW CORRESPONDENCE REGARDING COMMITTEE OBJECTION TO EMPLOYMENT OF HASKELL & WHITE.	0.10	850.00	85.00
09/09/08	Kerri A. Lyman	DRAFT APPLICATION TO EMPLOY BMC.	1.30	535.00	695.50
09/09/08	Kerri A. Lyman	REVIEW EMAIL FROM E. MILLER REGARDING EMPLOYMENT OF HASKELL & WHITE.	0.20	535.00	107.00
09/09/08	Kerri A. Lyman	CALLS WITH BMC REGARDING EMPLOYMENT APPLICATION.	0.40	535.00	214.00
09/10/08	Alan J. Friedman	CONFERENCE REGARDING RETENTION OF PROFESSIONALS	0.30	775.00	232.50
09/10/08	Alan J. Friedman	DRAFT CORRESPONDENCE REGARDING RETENTION OF PROFESSIONALS	0.40	775.00	310.00
09/10/08	Lori S. Gauthier	RECEIPT/REVIEW ORDER AUTHORIZING EMPLOYMENT OF FTI CONSULTING,	0.20	210.00	42.00
09/10/08	Lori S. Gauthier	PREPARE E-MAIL REGARDING SAME. Exhibit REVISE/FINALIZE APPLICATION TO EMPLOY BMC.	0.40	<b>5</b> 10.00 <b>5</b> Exhibit	<b>8</b> 4.00
			/ Va	Pace	321

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50

Case 8:08-bk-13150-RK Doc 278-11 B-Piled 0.7/16/09 f Entered 01/16/09 15:59:10

Desc Exhibit C (part 8) Page 20 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 190 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100

Invoice No. \*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
09/10/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING ISSUES RELATING TO EMPLOYMENT OF	0.10	210.00	21.00
		BMC AND PREPARE E-MAIL TO A. FRIEDMAN REGARDING COMMENTS TO DRAFT			
09/10/08	Lori S. Gauthier	APPLICATION. REVIEW E-MAILS REGARDING FTT'S	0.20	210.00	42.00
09/10/08	Lori S. Gauthier	EMPLOYMENT AND RELATED ISSUES. REVIEW/PREPARE PROFESSIONAL FEE STATEMENT ON BEHALF OF BMC FOR	0.20	210.00	42.00
	• •	SERVICE AND CALENDARING OF NOTICE EXPIRATION.	16 7		
09/10/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING COMMITTEE'S POSITION REGARDING HASKELL & WHITE EMPLOYMENT.	0.10	210.00	21.00
09/10/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF HASKELL & WHITE.	0.20	850.00	170.00
09/10/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING EMPLOYMENT OF HASHELL & WHITE.	0.10	850.00	85.00
09/10/08	William N. Lobel	REVIEW ADDITIONAL CORRESPONDENCE REGARDING HASHELL & WHITE EMPLOYMENT.	0.10	850.00	85.00
09/10/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING COMMITTEE OBJECTION TO HASHELL &	0.10	850.00	85.00
09/10/08	William N. Lobel	WHITE EMPLOYMENT. REVIEW CORRESPONDENCE REGARDING OBJECTION TO EMPLOYMENT OF TERRA	0.10	850.00	85.00
09/10/08	Kerri A. Lyman	FIMA. EMAILS WITH S. CONERTY AND D. SANTOS REGARDING FTI ORDER AND PAYMENT OF	0.20	535.00	107.00
09/11/08	Alan J. Friedman	RETAINER. REVIEW DOCUMENTS RELATED TO EMPLOYMENT OF ACCOUNTANTS	0.20	775.00	155.00
09/11/08	Alan J. Friedman	REVIEW FEE STATEMENT	0.10	775.00	77.50
09/11/08	Lori S. Gauthier	DRAFT APPLICATION TO EMPLOY HASKELL & WHITE AND SUPPORTING DECLARATION OF THOMAS D. O'ROURKE.	1.50	210.00	315.00
09/11/08	Lori S. Gauthier	REVIEW AND FINALIZE DRAFT OF APPLICATION TO EMPLOY HASKELL & WHITE, OBTAIN INFORMATION FOR	0.60	210.00	126.00
09/11/08	William N. Lobel	EXHIBITS TO SAME. REVIEW WINTHROP, COUCHOT FEE INVOICE.	0.30	850.00	255.00
09/12/08	Lori S. Gauthier	RECEIPT/REVIEW COMMITTEE'S APPLICATION TO EMPLOY FINANCIAL ADVISOR AND CALENDARING OF DEADLINE	0.20	210.00	42.00
09/12/08	Lori S. Gauthier	FOR FILING OBJECTIONS TO SAME.  DRAFT NOTICE TO CREDITORS OF DEBTORS'  APPLICATION TO EMPLOY BMC GROUP.	0.40	210.00	84.00
09/12/08	Lori S. Gauthier	DRAFT NOTICE TO CREDITORS OF DEBTORS' APPLICATION TO EMPLOY HASKELL &	0.40	210.00	84.00
09/12/08	Lori S. Gauthier	WHITE. REVIEW/REVISE APPLICATION TO EMPLOYIDIT _ HASKELL & WHITE AND REVIEW E-MAILS:	C <sub>0.20</sub>	210.00	42.00
				Y Evhihi	. B

Exhibit\_

322

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 796-10 Filed 01/16/09 of Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 21 of 28

I R E L L & M A N E L L A L L P
A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP
INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 191 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	<b>Amount</b>
•		FROM A. FRIEDMAN REGARDING SAME.			
09/12/08	Kerri A. Lyman	REVIEW AND REVISE HASKELL & WHITE	0.20	535.00	107.00
		APPLICATION.			
09/14/08	Alan J. Friedman	REVIEW APPLICATION TO EMPLOY	1.10	775.00	852.50
		ACCOUNTANTS			
09/15/08	Alan J. Friedman	REVIEW AND ANALYZE ISSUES RELATED TO	0.20	775.00	155.00
		RETENTION OF PROFESSIONALS		•	
09/15/08	Alan J. Friedman	REVIEW MOTION TO EMPLOY ADDITIONAL	0.30	775.00	232.50
		PROFESSIONALS			
09/15/08	Lori S. Gauthier	REVIEW A. FRIEDMAN'S COMMENTS	0.20	210.00	42.00
•		RELATING TO HASKELL & WHITE'S			
		EMPLOYMENT AND E-MAIL K. LYMAN			. •
00/15/09	Lori S. Gauthier	REGARDING INFORMATION NEEDED. TELEPHONE CALL TO T. O'ROURKE,	0.10	210.00	21.00
09/15/08	Lon S. Gaumer	HASKELL & WHITE.	0.10	210.00	21.00
09/15/08	Lori S. Gauthier	REVIEW E-MAILS AND CONFER WITH A.	0.30	210.00	63.00
09/13/08	DOLL D. Caumici	FRIEDMAN AND K. LYMAN REGARDING	0.50	210.00	05.00
		EMPLOYMENT ISSUES AND POTENTIAL			
		NUNC PRO TUNC EMPLOYMENT; REVIEW			
•	•	UST GUIDES AND PREPARE E-MAIL TO A.			
		FRIEDMAN AND K. LYMAN.			•
09/15/08	Lori S. Gauthier	TELEPHONE CALL FROM T. O'ROURKE	0.20	210.00	42.00
		(HASKELL & WHITE) REGARDING			
		INFORMATION FOR INCLUSION IN			
		EMPLOYMENT APPLICATION.			
09/15/08	Lori S. Gauthier	REVISE/DRAFT APPLICATION TO EMPLOY	0.50	210.00	105.00
		HASKELL & WHITE.			•
. 09/15/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING	0.10	210.00	21.00
		ISSUES RELATING TO EMPLOYMENT OF			
0014 5100	7 10 0 11	PROFESSIONALS AND TIMING ISSUES.		010.00	
09/15/08	Lori S. Gauthier	REVIEW/RESEARCH ISSUES RELATING TO	0.20	210.00	42.00
00/15/00	William M. Takal	EMPLOYMENT/NUNC PRO TUNC.	. 0.10	950.00	05.00
09/15/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING POTENTIAL GLASS RATNER CONFLICT.	0.10	850.00	85.00
09/16/08	Alan J. Friedman	REVIEW AND ANALYZE COMMITTEE	0.30	775.00	232.50
09/10/08	Alan J. Pricuman	EMPLOYMENT APPLICATION	0.50	775.00	232.30
09/16/08	Lori S. Gauthier	REVIEW COMMITTEE'S APPLICATION TO	0.20	210.00	42.00
05/10/00	2011 51 0444	EMPLOY STUTMAN, TREISTER, SPECIAL TAX	0.20	210.00	12.00
		COUNSEL AND CALENDARING OF	•		
		DEADLINE FOR FILING OBJECTIONS TO	•		
		SAME.			
09/16/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING	0.10	210.00	21.00
		STATUS RELATING TO EMPLOYMENT OF			
	•	PROFESSIONALS.			
09/16/08	William N. Lobel	REVIEW APPLICATION TO EMPLOY	0.10	850.00	85.00
		STUTMAN, TREISTER.			
09/16/08	William N. Lobel	REVIEW APPLICATION TO EMPLOY	0.10	850.00	85.00
		STUTMAN, TREISTER AS SPECIAL TAX		_	
		COUNSEL TO COMMITTEE.	Λ	//	
09/16/08	William N. Lobel	REVIEW AND RESPOND TO  CORRESPONDENCE REGARDING Exhibit	0.10	850:00	85.00
		CONCEDITORING =			•
		EMPLOYMENT OF STUTMAN, TREISTERGE	1	25	. 0
09/16/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN	0.10	850 <u>700</u> hib	t <b>り</b> 85.00
	•			De K	322

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc Exhibit B Filed 01/96/09 of Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 22 of 28

### I R E L L & M A N E L L A L L P A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 192 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	<u>Amount</u>
		REGARDING EMPLOYMENT OF STUTURE,			
		TRESTER BY COMMITTEE.			
09/17/08	Alan J. Friedman	DRAFT CORRESPONDENCE REGARDING	0.10	775.00	77.50
00/17/09	Alon I Emindmon	COMMITTEE PROFESSIONALS  REVISE EMPLOYMENT APPLICATIONS	0.00		
09/17/08	Alan J. Friedman	REVISE EMPLOYMENT APPLICATIONS	0.90	775.00	697.50
09/17/08	Lori S. Gauthier	REVIEW AND E-MAIL REGARDING STATUS OF FINALIZING APPLICATIONS TO EMPLOY	0.10	210.00	21.00
		BMC AND HASKELL & WHITE.			
09/17/08	Kerri A. Lyman	REVIEW AND FINALIZE APPLICATION TO	0.30	535.00	160.50
03717700	12011111111111111	EMPLOY HASKELL & WHITE.	0.50	333.00	100.50
09/17/08	Kerri A. Lyman	REVISE AND FINALIZE BMC APPLICATION.	0.20	535.00	107.00
09/18/08	Lori S. Gauthier	REVISE/FINALIZE APPLICATION AND	0.70	210.00	147.00
		SUPPORTING DECLARATIONS REGARDING			117.00
	•	EMPLOYMENT OF HASKELL & WHITE.			
09/18/08	Lori S. Gauthier	PREPARE E-MAIL TO PARTIES FORWARDING	0.10	210.00	21.00
	**	HASKELL & WHITE EMPLOYMENT			
•		APPLICATION FOR COMMENTS/APPROVAL			
		AND EXECUTION.			
09/18/08	Lori S. Gauthier	REVIEW E-MAIL AND DRAFT BMC	0.20	210.00	42.00
		APPLICATION.			
09/18/08	Lori S. Gauthier	CONFER WITH K. LYMAN REGARDING	0.10	210.00	21.00
		ISSUES RELATING TO ASSISTING FTI IN			
		PREPARATION AND SERVICE OF MONTHLY		•	
		PROFESSIONAL FEE STATEMENTS AND		•	
÷		RELATED ISSUES.		•	
09/18/08	Lori S. Gauthier	REVIEW/REVISE NOTICE TO CREDITORS OF	0.20	210.00	42.00
		DEBTORS' APPLICATION TO EMPLOY			
*		HASKELL & WHITE.		•	
09/18/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING	0.10	210.00	21.00
		COMMENTS/ADDITIONAL DISCLOSURES TO			
	·	BE INCLUDED IN HASKELL & WHITE			
		EMPLOYMENT APPLICATION.			
09/18/08	Kerri A. Lyman	TELEPHONE CALL WITH D. SANTOS	0.20	535.00	107.00
		REGARDING PFS FOR FTI.			•
09/19/08	Laura E. Evans	DISCUSSION OF APPLICATIONS WITH KERRI	0.10	325.00	32.50
		LYMAN			
09/19/08	Laura E. Evans	REVIEW AND ANALYZE NOTICE OF AND	0.40	325.00	130.00
		APPLICATION FOR EMPLOYMENT OF	•		
		STUTMAN, TREISTER & GLATT P.C.	•		
09/19/08	Laura E. Evans	SUMMARIZE APPLICATION FOR	0.40	325.00	130.00
•		EMPLOYMENT OF STUTMAN, TREISTER &			
		GLATT P.C. IN CORRESPONDENCE TO K.			
		LYMAN			
09/19/08	Laura E. Evans	REVIEW AND ANALYZE NOTICE OF AND	0.50	325.00	162.50
		APPLICATION FOR EMPLOYMENT OF			
		GLASSRATNER.		•	
. 09/19/08	Laura E. Evans	SUMMARIZE APPLICATION FOR	0.40	325.00	130.00
		EMPLOYMENT OF GLASSRATNER IN		August .	
		CORRESPONDENCE TO K. LYMAN	A	A STATE OF THE PARTY OF THE PAR	
09/19/08	Alan J. Friedman	REVIEW AND ANALYZE CORRESPONDENCE	0.60	775.00	465.00
	•	AND DOCUMENTS RELATED TO Exhibit		<del></del>	•
		EMPLOYMENT OF PROFESSIONALS Page	7/1		_
09/19/08	Alan J. Friedman	CORRESPONDENCE REGARDING PENDING	40.10	775.90 ibit	<b>2</b> , 77.50
•	•			Par	2211
				Fd'	J 64

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 5\*5-pit Brilled 01/96/09 of 21 thered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 23 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 193 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	<u>Amount</u>
	• .	APPLICATIONS		,	
09/19/08	Lori S. Gauthier	REVIEW/FINALIZE APPLICATION TO	0.30	210.00	63.00
03/13/00		EMPLOY BMC AND PREPARATION OF	0.50	210.00	. 05.00
		EXHIBITS FOR SAME.			
09/19/08	Lori S. Gauthier	REVIEW E-MAILS RELATING TO BMC'S	0.20	210.00	42.00
		EMPLOYMENT.			.2.00
09/19/08	Lori S. Gauthier	REVISE/FINALIZE NOTICE TO CREDITORS OF	0.20	210.00	42.00
		DEBTORS' APPLICATION TO EMPLOY BMC.			12.00
09/19/08	Lori S. Gauthier	REVIEW/FINALIZE APPLICATION AND	0.30	210.00	63.00
*		EXHIBITS TO SAME REGARDING			
		EMPLOYMENT OF HASKELL & WHITE.			•
09/21/08	Alan J. Friedman	REVIEW AND REVISE EMPLOYMENT	1.30	775.00	1,007.50
•		APPLICATIONS			
09/22/08	Lori S. Gauthier	REVIEW INVOICES RECEIVED FROM	0.10	210.00	21.00
	•	HASKELL & WHITE.			
09/22/08	Lori S. Gauthier	PREPARE APPLICATION TO EMPLOY BMC	0.30	210.00	63.00
	·	FOR SERVICE AND FILING WITH COURT AND			
		E-FILING OF SAME.			
09/22/08	Lori S. Gauthier	PREPARE NOTICE TO CREDITORS OF	0.30	210.00	63.00
•		DEBTORS' APPLICATION TO EMPLOY BMC		•	
•		FOR SERVICE ON PARTIES, FILING WITH			
	and the second	COURT, E-FILING OF SAME AND			
		CALENDARING OF DEADLINE FOR FILING			
		OBJECTIONS TO SAME.			*
09/22/08	Lori S. Gauthier	PREPARE NOTICE TO CREDITORS OF	0.30	210.00	63.00
•		DEBTORS' APPLICATION TO EMPLOY			•
		HASKELL & WHITE FOR SERVICE ON			
		PARTIES, FILING WITH COURT, E-FILING OF			
		SAME AND CALENDARING OF DEADLINE			
00/00/00	· · · · · · · · · · · · · · · · · · ·	FOR FILING OBJECTIONS TO SAME.			
09/22/08	Lori S. Gauthier	PREPARE APPLICATION TO EMPLOY	0.20	210.00	42.00
	•	HASKELL & WHITE FOR SERVICE AND			
•		FILING WITH COURT AND E-FILING OF SAME.			• •
09/22/08	Lori S. Gauthier	·	0.10	210.00	01.00
09/22/08	Lon S. Gaudner	COMMUNICATE WITH P. COUCHOT REGARDING APPROVAL OF APPLICATIONS	0.10	210.00	21.00
		AND NOTICES REGARDING EMPLOYMENT			•
		APPLICATIONS OF BMC AND HASKELL &			
		WHITE.			
09/22/08	Lori S. Gauthier	ARRANGE FOR DELIVERY OF COURTESY	0.10	210.00	21.00
0,7122100	Don B. Gauanor	COPIES OF E-FILED DOCUMENTS TO COURT.	0.10	210.00	21.00
09/22/08	Lori S. Gauthier	REVIEW COMMITTEE'S APPLICATION TO	0.20	210.00	42.00
03122700	Don's Canalia	EMPLOY FINANCIAL ADVISOR AND	0.20	210.00	42.00
		RELATED DEADLINES AND E-MAIL A.			
	•	FRIEDMAN REGARDING SAME.		•	
09/22/08	Lori S. Gauthier	REVIEW COMMITTEE'S APPLICATION TO	0.10	210.00	21.00
		EMPLOY TAX COUNSEL (STUTMAN) AND	0.10	210.00	21.00
		RELATED DEADLINES AND E-MAIL A.	•		
		FRIEDMAN REGARDING SAME.	al .		•
09/22/08	Lori S. Gauthier	E-MAIL REGARDING ORDINARY COURSE.	$\int_{0.10}$	210,00	21.00
		MOTION/WITHDRAW SAME. Exhibit			
09/23/08	Lori S. Gauthier	REVIEW E-MAIL FROM D. SANTOS (FTI) AND; e	0.20	2W.00	42.00
		PREPARE E-MAIL RESPONSE TO SAME	10	* / Exhil	oit G
			(	hann's	· · ·

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 279-11 B-Piled 09/16/09 of 21 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 24 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 194 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100 Invoice No. \*\*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	Activity	Hours	Rate	<u>Amount</u>
	• .	REGARDING PREPARATION OF			
		PROFESSIONAL FEE STATEMENTS.	•		
09/23/08	Lori S. Gauthier	PREPARE E-MAIL TO A. FRIEDMAN AND K.	0.10	210.00	21.00
		LYMAN REGARDING ISSUES RELATING TO	0.10	210.00	21.00
		SUBMISSION OF PROFESSIONAL FEE			
		STATEMENTS ON BEHALF OF HASKELL &			
		WHITE.			
09/23/08	Lori S. Gauthier	REVIEW FTI'S JULY PROFESSIONAL FEE	0.20	210.00	42.00
		STATEMENT AND PREPARE SAME FOR			2.00
		SERVICE AND FILING WITH UST.			
09/23/08	Lori S. Gauthier	REVIEW FTT'S AUGUST PROFESSIONAL FEE	0.20	210.00	42.00
		STATEMENT AND PREPARE SAME FOR			
		SERVICE AND FILING WITH UST.			
09/23/08	Lori S. Gauthier	REVIEW E-MAIL FROM K. LYMAN	0.10	210.00	21.00
		REGARDING FTI'S PROFESSIONAL FEE			
		STATEMENTS.			
09/23/08	Lori S. Gauthier	PREPARE E-MAIL TO D. SANTOS REGARDING	0.20	210.00	42.00
		FTI'S 1ST AND 2ND PROFESSIONAL FEE			
		STATEMENTS AND CALENDAR NOTICE			
		EXPIRATION THEREUNDER.			
09/23/08	Lori S. Gauthier	REVIEW DOCUMENTS REGARDING STATUS	0.20	210.00	42.00
•		OF PROFESSIONAL FEE STATEMENTS BY			
•		BMC AND PREPARE E-MAIL TO MJ			
00/02/00	T - 'C O - 'I'	REGARDING SAME.			
09/23/08	Lori S. Gauthier	REVIEW E-MAILS AND DOCUMENTS	0.30	210.00	63.00
		RELATING TO FTI EMPLOYMENT AND			
		RELATED ISSUES AND COMMUNICATE WITH			•
		A. FRIEDMAN, K. LYMAN AND D. SANTOS REGARDING SAME.			
09/24/08	Lori S. Gauthier	PREPARE NOTICE OF WITHDRAWAL OF	0.20	210.00	40.00
03124100	Lori S. Gautillei	ORDINARY COURSE MOTION.	0.20	210.00	42.00
09/25/08	Alan J. Friedman	REVIEW BMC INVOICES	0.10	775.00	77.50
09/25/08	Lori S. Gauthier	REVIEW E-MAIL FROM FTI AND FORWARD	0.10	210.00	77.50
03/23/00	Doll 5. Guudio	SAME TO A. FRIEDMAN REGARDING	0.10	210.00	21.00
		STATUS.			
09/26/08	Alan J. Friedman	REVIEW AND ANALYZE PROFESSIONAL FEE	0.20	775.00	155.00
		STATEMENTS	0.20	775.00	155.00
09/26/08	Lori S. Gauthier	REVIEW INVOICES AND PREPARE AUGUST	0.30	210.00	63.00
		PROFESSIONAL FEE STATEMENT FOR BMC	0.50	210.00	05.00
	•	GROUP.			
. 09/26/08	Lori S. Gauthier	REVIEW AND PREPARE NOTICE OF	0.20	210.00	42.00
		WITHDRAWAL OF ORDINARY COURSE		220.00	12.00
		MOTION FOR SERVICE AND FILING WITH	•		
		COURT; E-FILING OF SAME.			
09/26/08	Lori S. Gauthier	COMMUNICATE WITH P. COUCHOT	0.10	210.00	21.00
•	,	REGARDING/APPROVAL OF NOTICE OF			-2.00
		WITHDRAWAL OF ORDINARY COURSE			
•		MOTION.			
09/26/08	Lori S. Gauthier	REVIEW AND PREPARE E-MAIL TO K.	0.20	210.00	42.00
		LYMAN REGARDING STATUS RELATING TO	΄ Λ	• /	
	. •	FTI'S PROFESSIONAL FEE STATEMENTS.	Ψ.,		
09/29/08	Kerri A. Lyman	RESPOND TO EMAILS FROM J. MCFADDEN XNIDIT	b30_	53500	160.50
		REGARDING PFSS OF H&B, FTI, IRELL AND age	2	11X Evh	ihit <b>B</b>
•			N	F EATT	INIL V
					≘_32 <i>\</i>

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50

Case 8:08-bk-13150-RK Doc 575-11 Brilled 0976/09 Entered 01/16/09 15:59:10

Desc Exhibit C (part 8) Page 25 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 195 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
		SULMEYER.			*
09/29/08	Kerri A. Lyman	REVIEW AND FINALIZE FTI'S PROFESSIONAL FEE STATEMENTS.	0.30	535.00	160.50
09/30/08	Alan J. Friedman	REVIEW MULTIPLE CORRESPONDENCE RELATED TO INVOICE PAYMENTS AND	0.20	775.00	155.00
10/01/08	Kerri A. Lyman	PREPARE RESPONSES EMAIL TO E. MILLER REGARDING FTI'S	0.20	535.00	107.00
10/06/08	Lori S. Gauthier	PROFESSIONAL FEE STATEMENT REVIEW E-MAILS AND JULY AND AUGUST PROFESSIONAL FEE STATEMENTS;	0.20	210.00	42.00
		CALENDAR DEADLINE FOR FILING OBJECTIONS TO SAME.			
10/06/08	Lori S. Gauthier	REVIEW AND PREPARE AUGUST PROFESSIONAL FEE STATEMENT FOR	0.20	210.00	42.00
	ı	SERVICE ON PARTIES; CALENDARING OF NOTICE EXPIRATION.			
10/06/08	Lori S. Gauthier	REVIEW E-MAIL FROM MJ (BMC) REGARDING STATUS OF EMPLOYMENT	0.10	210.00	21.00
•	•	APPLICATION AND OBJECTION DEADLINE AND E-MAIL RESPONSE TO SAME.			e e
10/07/08	Laura E. Evans	REVIEWING NOTICE OF APPLICATION AND APPLICATION FOR EMPLOYMENT OF	0.40	325.00	130.00
10/07/08	Laura E. Evans	DELOITTE FAS SUMMARIZING APPLICATION FOR EMPLOYMENT OF DELOITE FAS FOR K	0.60	325.00	195.00
•		EMPLOYMENT OF DELOITTE FAS FOR K. LYMAN AND COMPARING SERVICES TO BE PERFORMED BY DELOITTE TO SERVICES TO	•		
		BE PERFORMED BY GLASSRATNER.			•
10/07/08	Alan J. Friedman	REVIEW STATEMENT REGARDING EMPLOYMENT OF HASKELL	0.10	775.00	77.50
10/07/08	Lori S. Gauthier	REVIEW COMMITTEE'S APPLICATION TO EMPLOY DELOITTE (VALUATION	0.10	210.00	21.00
		CONSULTANTS) AND CALENDAR DEADLINE FOR FILING OBJECTIONS/RESPONSES TO SAME.			·
10/07/08	Lori S. Gauthier	REVIEW PROFESSIONAL FEE STATEMENTS OF FTI REGARDING STATUS OF NOTICE	0.10	210.00	21.00
10/07/08	William N. Lobel	PERIOD THEREUNDER. REVIEW CORRESPONDENCE REGARDING APPLICATION OF CREDITORS TO EMPLOY	0.10	850.00	85.00
10/07/08	Kerri A. Lyman	DELOITTE. REVIEW AND ANALYZE SERVICES PROVIDED BY DELOITTE AND EMAIL S.	0.30	535.00	160.50
10/07/08	Kerri A. Lyman	THIGPEN RE SAME. FINALIZE AND SIGN NOTICES OF NO	0.20	535.00	107.00
10/07/00		OBJECTION TO EMPLOYMENT OF BMC AND HASKELL AND WHITE.			
10/07/08	Kerri A. Lyman	REVIEW COMMITTEE'S STATEMENT OF POSITION REGARDING HASKELL & WHITE AND EMAIL A PRICEMAN DE SAME	0.20	535.00	107.00
10/08/08	Alan J. Friedman	AND EMAIL A. FRIEDMAN RE SAME. REVIEW AND ANALYZE COMMITTEE APPLICATION TO HIRE FINANCIAL  EXHIBIT	0.60	775.00	465.00
		consultants Page_	D	77 <sub>Exhib</sub>	it <b>B</b>

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 275-11 Brilled 09/16/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 26 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANÚLIAS January 7, 2009 Page 196 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
10/08/08	Alan J. Friedman	REVIEW CORRESPONDENCE AND DOCUMENTS RELATED TO PENDING EMPLOYMENT APPLICATIONS AND NEW	0.30	775.00	232.50
10/08/08	Lori S. Gauthier	PROFESSIONALS TO BE EMPLOYED PACER SEARCH REGARDING VERIFY NO OBJECTIONS FILED REGARDING HASKELL & WHITE'S EMPLOYMENT AND PREPARE CERTIFICATE OF NO OBJECTION	0.30	210.00	63.00
10/08/08	Lori S. Gauthier	REGARDING SAME. PACER SEARCH REGARDING VERIFY NO OBJECTIONS FILED REGARDING BMC'S EMPLOYMENT AND PREPARE CERTIFICATE	0.30	210.00	63.00
10/08/08	Lori S. Gauthier	OF NO OBJECTION REGARDING SAME, PREPARE PROPOSED ORDER GRANTING APPLICATION TO EMPLOY HASKELL &	0.40	210.00	84.00
10/08/08	Lori S. Gauthier	WHITE. PREPARE PROPOSED ORDER GRANTING APPLICATION TO EMPLOY BMC.	0.40	210.00	84.00
10/08/08	Lori S. Gauthier	PREPARE PROFESSIONAL FEE STATEMENT FORM FOR HASKELL & WHITE.	0.20	210.00	42.00
10/08/08 .	Lori S. Gauthier	PREPARE E-MAIL TO T. O'ROURKE (HASKELL & WHITE) REGARDING EMPLOYMENT AND RELATED ISSUES.	0.20	210.00	42.00
10/08/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING NEED TO	0.10	210.00	21.00
10/08/08	William N. Lobel	EMPLOY CROUDACE, DIETRICH & PARKER. REVIEW APPLICATION TO EMPLOY DELOITTE FINANCIAL.	0.20	850.00	170.00
10/09/08	Lori S. Gauthier	REVIEW/PREPARE CNO REGARDING BMC EMPLOYMENT APPLICATION FOR SERVICE	0.20	210.00	42.00
. /		AND FILING WITH COURT; E-FILING OF SAME.	•		
10/09/08	Lori S. Gauthier	REVIEW/PREPARE CNO REGARDING HASKELL & WHITE'S EMPLOYMENT APPLICATION FOR SERVICE AND FILING	0.20	210.00	42.00
10/09/08	Lori S. Gauthier	WITH COURT; E-FILING OF SAME. REVIEW/PREPARE PROPOSED ORDER EMPLOYMENT BMC FOR SERVICE AND FILING WITH COURT; E-FILING OF SAME.	0.20	210.00	42.00
10/09/08	Lori S. Gauthier	REVIEW/PREPARE PROPOSED ORDER EMPLOYMENT HASKELL & WHITE FOR SERVICE AND FILING WITH COURT; E-	0.20	210.00	42.00
10/09/08	William N. Lobel	FILING OF SAME. REVIEW RESERVATION OF RIGHTS REGARDING HASKELL & WHITE EMPLOYMENT.	0.10	850.00	85.00
10/13/08	Laura E. Evans	DRAFTING RESERVATION OF RIGHTS FILING WITH RESPECT TO COMMITTEES' APPLICATION TO EMPLOY DELOITTE	0.30	325.00	97.50
10/13/08	Kerri A. Lyman	EMAILS REGARDING RETENTION OF CROUDACE AND CROUDACE EMPLOYMENT AGREEMENT.	0.20	535.00	107.00
10/13/08	Kerri A. Lyman	EMAILS WITH D. SANTOS REGARDING Exhibit PAYMENT OF FIT'S JULY AND AUGUST FEES GO	t <u>0.20</u>	535:00	107.00
		. 490	d.	JIU E	xhibit 2 age 328
	n de din in la companya di sa				-y- <u> </u>

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50

Case 8:08-bk-13150-RK Doc 275-11 B-Page 2609 Entered 01/16/09 15:59:10

Desc Exhibit C (part 8) Page 27 of 28

### IRELL & MANELLA LLP AREGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 197 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	<u>Name</u>	Activity	Hours	Rate	<u>Amount</u>
10/14/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO RETENTION OF ADDITIONAL PROFESSIONALS AND CONFERENCE	0.30	775.00	232.50
10/14/08	Lori S. Gauthier	REGARDING SAME REVIEW E-MAILS AND REVIEW COURT DOCKET REGARDING STATUS OF ANY	0.20	210.00	42.00
		OBJECTIONS FILED TO FTI'S JULY AND AUGUST PROFESSIONAL FEE STATEMENTS AND E-MAIL PARTIES REGARDING SAME.			
10/14/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING NEED TO EMPLOY CROUDACE, DIETRICH FIRM.	0.10	210.00	21.00
10/14/08	William N. Lobel	REVIEW SULMEYER PROFESSIONAL FEE STATEMENT #2.	0.10	850.00	85.00
10/14/08	William N. Lobel	REVIEW D. DIEHRACH REVISED ENGAGEMENT LETTER.	0.10	850.00	85.00
10/14/08	Kerri A. Lyman	REVIEW PFS SUBMITTED BY SULMEYER.	0.30	535.00	160.50
10/15/08	Lori S. Gauthier	DRAFT APPLICATION TO EMPLOY	1.50	210.00	315.00
;		CROUDACE, DIEETRICH & PARKER, SPECIAL COUNSEL.	1.50	210.00	313.00
10/15/08	Lori S. Gauthier	PACER SEARCH REGARDING STATUS OF ORDERS REGARDING APPLICATIONS TO	0.20	210.00	42.00
10/15/08	Lori S. Gauthier	EMPLOY BMC AND HASKELL & WHITE. REVIEW REGARDING STATUS/STRATEGY CONCERNING TIMING/SCHEDULING OF	0.20	210.00	42.00
•		HEARING ON FEE APPLICATIONS AND PREPARE EMAIL REGARDING SAME.			
10/15/08	Kerri A. Lyman	REVIEW AND REVISE APPLICATION TO EMPLOY CROUDACE AND EMAIL S. CONERTY RE SAME.	0.40	535.00	214.00
10/16/08	Lori S. Gauthier	REVIEW COURT DOCKET REGARDING STATUS OF EMPLOYMENT ORDERS.	0.10	210.00	21.00
10/16/08	William N. Lobel	REVIEW DRAFT APPLICATION TO EMPLOY CROUDACE DIETRICH.	0.20	850.00	170.00
10/17/08	Alan J. Friedman	REVIEW EMPLOYMENT ORDERS	0.10	775.00	77.50
10/17/08	Lori S. Gauthier	REVIEW E-MAIL FROM MJ (BMC)	0.10	210.00	21.00
		REGARDING STATUS OF ORDER AUTHORIZING EMPLOYMENT AND E-MAIL			
10/17/08	Lori S. Gauthier	RESPONSE TO SAME. DRAFT NOTICE TO CREDITORS OF APPLICATION TO EMPLOY CROUDACE,	0.30	210.00	63.00
		DIETRICH & PARKER.			
10/17/08	Lori S. Gauthier	PACER SEARCH; OBTAIN COPY OF ENTERED ORDER AUTHORIZING EMPLOYMENT OF	0.10	210.00	21.00
10/17/08	Lori S. Gauthier	BMC AND REVIEW SAME. PACER SEARCH; OBTAIN COPY OF ENTERED	0.10	210.00	21.00
	•	ORDER AUTHORIZING EMPLOYMENT OF HASKELL & WHITE AND REVIEW SAME.			
10/17/08	Lori S. Gauthier	REVIEW DOCUMENTS REGARDING EMPLOYMENT OF BMC AND STATUS OF	0.20	210.00	42.00
		PROFESSIONAL FEE STATEMENTS AND PREPARE E-MAIL TO MJ (BMC) REGARDING it	0		
a a ta = :		SAME.	7	# Fyhih	it <b>B</b>
10/17/08	Lori S. Gauthier	REVIEW DOCUMENTS REGARDING 1 499	200	<u>/ 210.00</u> ^	2 2 00
			<b>*</b> .	e sart - Suir.	

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 5\*5-11 Brilled 09/16/09 Entered 01/16/09 15:59:10 Desc Exhibit C (part 8) Page 28 of 28

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 198 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

Date	<u>Name</u>	Activity	<u>Hours</u>	Rate	Amount
		EMPLOYMENT OF HASKELL & WHITE AND		•	
		PREPARE E-MAIL TO T. O'ROURKE (HASKELL			
•		& WHITE) REGARDING EMPLOYMENT			
10/20/09	Alon I Tuioduron	ISSUES.	0.40	<i>535</i> 00	010.00
10/20/08	Alan J. Friedman	REVIEW AND REVISE STATEMENT OF POSITION REGARDING EMPLOYMENT OF	0.40	775.00	310.00
	•	EXPERTS			
10/20/08	Lori S. Gauthier	REVIEW REGARDING UPCOMING DEADLINE	0.10	210.00	21.00
10/20/00	Don D. Gaumor	TO FILE RESPONSE TO COMMITTEE'S	0.10	210.00	21.00
		APPLICATION TO EMPLOY DELOITTE AND E-			
•	•	MAIL A. FRIEDMAN REGARDING			
		COMMENTS/APPROVAL OF DRAFT			
		STATEMENT OF POSITION.			
10/20/08	Lori S. Gauthier	REVIEW E-MAIL REGARDING STATEMENT	0.10	210.00	21.00
		OF POSITION.		4	
10/21/08	Lori S. Gauthier	PREPARE STATEMENT AND RESERVATION	0.20	210.00	42.00
	-	OF RIGHTS REGARDING DELOITTE'S		-	
		EMPLOYMENT FOR SERVICE AND FILING WITH COURT AND E-FILING OF SAME.			
10/21/08	Lori S. Gauthier	REVIEW E-MAIL FROM MJ (BMC), OBTAIN	0.20	210.00	42.00
10/21/08	Lon S. Gaumer	COPY OF PFS AND FORWARD TO SAME.	0.20	210.00	42.00
10/22/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO	0.20	775.00	155.00
10/22/00	, , , , , , , , , , , , , , , , , , ,	EMPLOYMENT OF PROFESSIONALS	0.20	775.00	155.00
10/22/08	Lori S. Gauthier	REVIEW E-MAIL AND EXECUTED	0.10	210.00	21.00
		ENGAGEMENT AGREEMENTS FROM			
		CROUDACE FIRM.			
10/22/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
	•	BILLING ISSUES.			
10/22/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
		ENGAGEMENT OF DELOITTE FINANCIAL.			· · · · · · · · · · · · · · · · · · ·
10/22/08	William N. Lobel	REVIEW WINTHROP COUCHOT FEE	0.20	850.00	170.00
10/02/09	I - ii O O - ii dii - ii	STATEMENT.	0.10	210.00	
10/23/08	Lori S. Gauthier	REVIEW PLEADINGS REGARDING	0.10	210.00	21.00
		INFORMATION REQUESTED BY K. LYMAN RELATING TO GLASSRATNER			
*		EMPLOYMENT.			,
10/24/08	Lori S. Gauthier	REVIEW REGARDING STATUS OF	0.10	210.00	21.00
10/2 1/00	Doll D. Guulmor	FINALIZING CROUDANCE EMPLOYMENT	0.10	210.00	. 21.00
•	4	APPLICATION.			
10/24/08	Kerri A. Lyman	REVISIONS TO APPLICATION TO EMPLOY	0.40	535.00	214.00
	•	CROUDACE AND EMAILS WITH J.			
		MCFADDEN AND S. CONERTY RE SAME.			
10/27/08	Alan J. Friedman	REVIEW AND REVISE EMPLOYMENT	0.50	775.00	387.50
		APPLICATION			
10/27/08	William N. Lobel	REVIEW/ANALYSIS OF FINAL DRAFT OF	0.20	850.00	170.00
		APPLICATION TO EMPLOY CROUDACE			
10/28/08	Lori S. Gauthier	REVIEW/PREPARE SUPPLEMENTAL	0.20	210.00	42.00
		DISCLOSURE FOR SERVICE AND FILING		•	
	* 100 11	WITH COURT AND E-FILING OF SAME.			
10/28/08	Lori S. Gauthier	REVIEW E-MAILS AND REVISED DRAFT OF	0.20	210.00	42.00
	•	APPLICATION TO EMPLOY CROUDACE,	しょ	in the second se	
10/28/08	Lori S. Gauthier	DIETRICH. Exhibit _ REVISE/DRAFT NOTICE OF DEBTORS Page	No.	7210-00	<b>6</b> (2.00
10/20/00	Lon S. Caudici	MANDEN THORICE OF DEDICAS PS (6)	639	<b>L</b> xhib	it <b>B</b> 63.00
-			· •	Para	24

Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 275-12 Filed 01/16/09 fatered 01/16/09 15:59:10 Desc Exhibit C (part 9) Page 1 of 21

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 199 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

<u>Date</u>	<u>Name</u>	<u>Activity</u>	<u>Hours</u>	Rate	Amount
		APPLICATION TO EMPLOY CROUDACE, DIETRICH.		•	
10/28/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING DEBTOR'S APPROVAL OF EMPLOYMENT APPLICATION OF CROUDACE, ET AL.	0.10	210.00	21.00
10/28/08	Kerri A. Lyman	EMAIL RE CROUDACE.	0.10	535.00	53.50
10/30/08	William N. Lobel	REVIEW/ANALYSIS OF PLEADINGS RE	0.20	850.00	170.00
10.00.00	***************************************	EMPLOYMENT OF CROUDACE	0.220	050.00	170.00
10/31/08	Alan J. Friedman	REVIEW AND REVISE EMPLOYMENT APPLICATION	0.40	775.00	310.00
10/31/08	William N. Lobel	REVIEW/ANALYSIS OF GLASS RATNER PROFESSIONAL FEE STATEMENT #2	0.20	850.00	170.00
10/31/08	William N. Lobel	OFFICE CONFERENCE WITH A. FRIEDMAN RE ISSUES WITH COMMITTEE PROFESSIONALS	0.20	850.00	170.00
10/31/08	Kerri A. Lyman	EMAILS TO BMC REGARDING PREPETITION CLAIMS.	0.30	535.00	160.50
11/03/08	Kerri A. Lyman	EMAIL REGARDING CROUDACE EMPLOYMENT APPLICATION.	0.20	535.00	107.00
11/04/08	Alan J. Friedman	REVIEW ISSUES RELATED TO DELOITTE EMPLOYMENT	0.20	775.00	155.00
11/04/08	Alan J. Friedman	REVIEW AND ANALYZE ISSUES AND RELATED DOCUMENTS REGARDING	0.30	775.00	232.50
11/04/08	Lori S. Gauthier	EMPLOYMENT OF SPECIAL COUNSEL. CONFER WITH K. LYMAN AND REVIEW E- MAILS REGARDING APPLICATION TO	0.30	210.00	63.00
		EMPLOY CROUDACE, ET AL.; REVIEW			· .
11/04/08	William N. Lobel	REVISIONS TO APPLICATION. REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
11/04/08	William N. Lobel	PROFESSIONAL COMPENSATION. REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
11/04/08	William N. Lobel	DELOITTE EMPLOYMENT ORDER. REVIEW ORDERS APPROVING EMPLOYMENT	0.30	850.00	255.00
11/04/08	William N. Lobel	OF HASKELL & WHITE AND DELOITTE. REVIEW FINAL VERSION OF CROUDACE EMPLOYMENT APPLICATION.	0.10	850.00	85.00
11/04/08	Kerri A. Lyman	EMAIL REGARDING EMPLOYMENT OF CROUDACE.	0.10	535.00	53.50
11/05/08	Alan J. Friedman	CORRESPONDENCE RELATED TO DELOITTE EMPLOYMENT ORDER	0.10	775.00	77.50
11/05/08	Lori S. Gauthier	REVIEW E-MAIL RECEIVED FROM B. LEE REGARDING CROUDACE EMPLOYMENT.	0.10	210.00	21.00
11/05/08	Lori S. Gauthier	REVIEW PROFESSIONAL FEE STATEMENT AND SUPPORTING INVOICES RECEIVED	0.20	210.00	42.00
11/05/08	Lori S. Gauthier	FROM FTI. PREPARE FTI'S PROFESSIONAL FEE	0.20	210.00	42.00
11/05/08	Lori S. Gauthier	STATEMENT FOR SERVICE. CALENDARING OF NOTICE EXPIRATION UNDER FTI'S SEPTEMBER PROFESSIONAL	0.10	210.00	21.00
11/05/08	Lori S. Gauthier	FEE STATEMENT.  PREPARE E-MAIL TO FTI AND CLIENT Exhibit REGARDING SEPTEMBER PROFESSIONAD AGE FEE STATEMENT AND PREPARE/SUPERVISE  FEE STATEMENT AND PREPARE/SU	0.20	210.00	42.00
	•	FEE STATEMENT AND PREPARE/SUPERVISES —	11	Exh	nibit B

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Desc Exhibit Billed 01/976709 of 21 tered 01/16/09 15:59:10 Desc Exhibit C (part 9) Page 2 of 21

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 200 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	Name	Activity	Hours	Rate	Amount
	•	SERVICE OF SAME ON PARTIES.			
11/05/08	Lori S. Gauthier	RECEIPT/REVIEW OF EXECUTED	0.20	210.00	42.00
	•	EMPLOYMENT APPLICATION FROM			
		CROUDACE & DIETRICH AND E-MAIL			
		CLIENT REGARDING STATUS OF RETURN OF			
	•	EXECUTED APPLICATION.			
11/05/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
		DELOITTE EMPLOYMENT ORDER.			
11/05/08	Kerri A. Lyman	CALL WITH E. MILLER RE DELOITTE ORDER	0.20	535.00	107.00
11/06/08	Lori S. Gauthier	RECEIPT/REVIEW OF EXECUTED	0.20	210.00	42.00
		APPLICATION TO EMPLOY CROUDACE, ET		•	
11/06/09	Lowi C Couthier	AL., AND PREPARE EXHIBITS FOR SAME. REVISE/FINALIZE NOTICE TO CREDITORS OF	0.20	210.00	42.00
11/06/08	Lori S. Gauthier	DEBTORS' APPLICATION TO EMPLOY	0.20	210.00	42.00
•	•	CROUDACE, ET AL.			•
11/06/08	Lori S. Gauthier	PREPARE E-MAIL TO P. COUCHOT	0.10	210.00	21.00
11/00/00	LOII D. Gadanox	REGARDING APPROVAL OF	0.10	210.00	21.00
		APPLICATION/NOTICE TO EMPLOY			
		CROUDACE, ET AL.			
11/06/08	Lori S. Gauthier	REVIEW/PREPARE NOTICE AND	0.30	210.00	63.00
11,00,00		APPLICATION TO EMPLOY CROUDACE, ET			•
	•	AL. FOR SERVICE AND FILING WITH COURT.			
11/06/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING	0.10	850.00	85.00
	•	SERVICES BEING PROVIDED BY OTHER	•		
		PROFESSIONALS.			
11/06/08	Kerri A. Lyman	TELEPHONE CALL WITH CROUDACE.	0.10	535.00	53.50
11/07/08	Lori S. Gauthier	PREPARE NOTICE AND APPLICATION TO	0.30	210.00	63.00
. •		EMPLOY CROUDACE, DIETRICH FOR	•		
•		SERVICE ON PARTIES AND FILING WITH			
		COURT AND E-FILING OF SAME.			
11/07/08	Lori S. Gauthier	CALENDARING OF DEADLINE FOR FILING	0.10	210.00	21.00
		OBJECTIONS TO CROUDACE EMPLOYMENT			
	* 100 11	APPLICATION AND RELATED DEADLINES.	0.00	210.00	40.00
11/07/08	Lori S. Gauthier	REVIEW E-MAIL FROM I. MAING	0.20	210.00	42.00
		(CROUDACE, DIETRICH) AND FORWARD	•		
11/10/00	Tani C Conthian	REQUESTED DOCUMENTS TO SAME.	0.10	210.00	21.00
11/10/08	Lori S. Gauthier	REVIEW COMMITTEE'S MOTION FOR RECONSIDERATION OF ORDER (RE:	0.10	210.00	21.00
:		DELOITTE EMPLOYMENT) AND			
		CALENDARING OF DEADLINE FOR			
		OBJECTIONS TO SAME.			
11/10/08	Kerri A. Lyman	ANALYZE EMAIL FROM V. SAHN RE	0.30	535.00	160.50
11/10/06	Kom A. Lyman	CROUDACE EMPLOYMENT.	0.50	333.00	100.50
11/11/08	Lori S. Gauthier	REVIEW COMMITTEE'S SEPTEMBER	0.20	210.00	42.00
	Doll D. Caudilei	PROFESSIONAL FEE STATEMENT AND	V.=-V		• .
	•	RELATED INVOICES.			1
11/12/08	William N. Lobel	REVIEW/ANALYSIS OF QUESTIONS RE	0.20	850.00	170.00
22/22/05		EMPLOYMENT OF CROUDANCE FIRM AND	. •		
•		RESPONSES THERETO	Λ		
11/12/08	William N. Lobel	· · · · · · · · · · · · · · · · · · ·	f C0:20	<b>850.00</b>	170.00
	- -	RECONSIDER RE DELOITTE EMPLOYMENT	-/	511	
11/13/08	Alan J. Friedman	REVIEW MOTION FOR RECONSIDERATION 99	-0.46	<b>111.00</b>	310.00
11/13/08	Alan J. Friedman	REVIEW DOCUMENTS RELATED TO	0.20	775.00	155.00
			•	Exhib	it B
				Pra	322
				,	

# Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 796-10 Filed 01/16/09 of Entered 01/16/09 15:59:10 Desc Exhibit C (part 9) Page 3 of 21

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 201 Re: SERVICES FOR OTHER PROFESSIONALS 160808/2100

<u>Date</u>	<u>Name</u>	<u>Activity</u>	Hours	Rate	Amount
11/13/08	William N. Lobel	EMPLOYMENT OF SPECIAL COUNSEL REVIEW/ANALYSIS OF COMMITTEE QUESTIONS RE CROUDANCE APPLICATION AND RESPONSES THERETO	0.20	850.00	170.00
11/13/08	Kerri A. Lyman	ADDRESS COMMITTEE ISSUES REGARDING EMPLOYMENT OF CROUDACE.	0.20	535.00	107.00
11/14/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING COMMITTEE QUESTIONS REGARDING CRAUDANCE EMPLOYMENT AND RESPONSES THERETO.	0.20	850.00	170.00
11/14/08	Kerri A. Lyman	CALL WITH CROUDACE RE EMPLOYMENT.	0.10	535.00	53.50
11/14/08	Kerri A. Lyman	RESPOND TO V. SAHN'S INFORMATION REQUESTS RE CROUDACE.	0.20	535.00	107.00
11/17/08	William N. Lobel	REVIEW/ANALYSIS OF CORRESPONDENCE RE CROUDANCE EMPLOYMENT AND RESPONSES TO COMMITTEE QUESTIONS	0.20	850.00	170.00
11/17/08	Kerri A. Lyman	EMAIL WITH J. MCFADDEN RE CROUDACE.	0.10	535.00	53.50
11/18/08	Lori S. Gauthier	REVIEW FTI'S SEPTEMBER PROFESSIONAL FEE STATEMENT AND E-MAIL REGARDING EXPIRATION OF NOTICE PERIOD THEREUNDER.	0.10	210.00	21.00
11/18/08	Lori S. Gauthier	PREPARE E-MAIL TO CLIENT REGARDING FTI'S SEPTEMBER PROFESSIONAL FEE STATEMENT.	0.10	210.00	21.00
11/19/08	Lori S. Gauthier	REVIEW COMMITTEES' STATEMENT AND LIMITED OBJECTION TO CROUDACE, DIETRICH EMPLOYMENT.	0.10	210.00	21.00
11/20/08	Lori S. Gauthier	REVIEW COURT'S ORDER REGARDING COMMITTEE'S MOTION FOR	0.20	210.00	42.00
		RECONSIDERATION AND CALENDARING OF HEARING AND DEADLINE FOR FILING PLEADINGS BY EMPLOYED PROFESSIONALS			
		AS TO MONTHLY VS. QUARTERLY PAYMENT ISSUES.	•		•
11/20/08	William N. Lobel	REVIEW COMMITTEE'S OBJECTION TO EMPLOYMENT OF CROUDANCE FIRM.	0.10	850.00	85.00
11/20/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING COMMITTEE OBJECTION.	0.10	850.00	85.00
11/20/08	William N. Lobel	REVIEW CORRESPONDENCE REGARDING COMMITTEE OBJECTION.	0.10	850.00	85.00
11/20/08	Kerri A. Lyman	REVIEW COMMITTEE OBJECTION TO CROUDACE EMPLOYMENT AND EMAIL CROUDACE RE SAME.	0.40	535.00	214.00
11/21/08	Lori S. Gauthier	REVIEW E-MAILS REGARDING HASKELL & WHITE EMPLOYMENT AND PAYMENT	0.20	210.00	42.00
<b>1</b>		PROCEDURES; PREPARE E-MAIL RESPONSE TO J. MCFADDEN FORWARDING INFORMATION AND FORM PROFESSIONAL FEE STATEMENT.			
11/21/08	Lori S. Gauthier	TELEPHONE CALL FROM T. O'ROURKE REGARDING QUESTIONS RELATING TO Exhibit MONTHLY PROFESSIONAL FEE Page	0.10	210.00	21.00
		STATEMENTS.	161	Exhibit	B

## Case 8:08-bk-13150-RK Doc 796-10 Filed 10/07/10 Entered 10/07/10 09:15:50 Case 8:08-bk-13150-RK Doc 2781912 B Filed 09963090f Entered 01/16/09 15:59:10 Desc Exhibit C (part 9) Page 4 of 21

#### IRELL & MANELLA LLP

A REGISTERED LIMITED LIABILITY LAW PARTNERSHIP INCLUDING PROFESSIONAL CORPORATIONS

JAMES C. GIANULIAS January 7, 2009 Page 202 Re: SERVICES FOR OTHER PROFESSIONALS
160808/2100
Invoice No. \*\*\*\*\*\*\*

<u>Date</u> Name Activity Hours Rate **Amount** 11/21/08 Lori S. Gauthier REVIEW E-MAIL FROM J. MCFADDEN AND 0.10 210.00 21.00 FORWARD COPY OF ENTERED ORDER AUTHORIZING HASKELL & WHITE'S EMPLOYMENT TO SAME. 11/21/08 William N. Lobel REVIEW COURT ORDER REGARDING 0.10 850.00 85.00 PAYMENT OF PROFESSIONALS. 11/21/08 Kerri A. Lyman REVIEW ORDER RE MOTION FOR 0.20 535.00 107.00 RECONSIDERATION RE PROFESSIONAL FEES AND EMAIL J. MCFADDEN RE SAME. EMAILS REGARDING ORDER RE PAYMENT 11/21/08 Kerri A. Lyman 0.20 535.00 107.00 OF MONTHLY FEES. 11/23/08 William N. Lobel REVIEW LIMITED OBJECTION TO 0.20 850.00 170.00 EMPLOYMENT OF CRANDANCE FIRM. 11/24/08 Lori S. Gauthier REVIEW PLEADINGS REGARDING DELOITTE 0.10 210.00 21.00 EMPLOYMENT AND POSITION. 11/24/08 Kerri A. Lyman EMAIL TO D. SANTOS. 0.10 535.00 53.50 11/25/08 Lori S. Gauthier REVIEW LIMITED OBJECTION BY 0.20 210.00 42.00 COMMITTEE TO EMPLOYMENT OF CROUDACE, ET. AL. AND PREPARE E-MAIL TO A. FRIEDMAN AND K. LYMAN REGARDING STRATEGY CONCERNING SAME. 11/25/08 Lori S. Gauthier REVIEW INVOICES OF HASKELL & WHITE 0.20 210.00 42.00 AND RELATED E-MAILS. REVIEW FORM OF ORDER REGARDING 11/25/08 William N. Lobel 0.10 850.00 85.00 EMPLOYMENT OF CRANDANCE FIRM. 11/25/08 Kerri A. Lyman EMAIL TO CROUDACE RE COMMITTEE 0.20 535.00 107.00 **OBJECTION** 11/26/08 William N. Lobel REVIEW CORRESPONDENCE REGARDING 0.10 850.00 85.00 CONDITIONS TO EMPLOYMENT OF CRANDANCE FIRM. 11/30/08 William N. Lobel REVIEW CORRESPONDENCE REGARDING 0.10 850.00 85.00 INFORMATION REQUESTED FROM

TIMEKEEPER SUMMARY					
<u>Name</u>	<u>Code</u>	Billing Rate	Hours	Fee Amount	
Alan J. Friedman	AFRI	775.00	24.20	18,755.00	
William N. Lobel	WLOB	850.00	22.50	19,125.00	
Laura E. Evans	LEVA	325.00	3.10	1,007.50	
Kerri A. Lyman	LYMA	535.00	25.20	13,482.00	
Issa K. Moe	IMOE	325.00	12.40	4,030.00	
Lori S. Gauthier	LGAU	210.00	57.00	11,970.00	
	7	Cotals:	144.40	\$ 68.369.50	

CRANANCE FIRM.

Exhibit

**Total Fees:** 

144.40

Exhibit

334

\$68,369.50